S22 £H| (Amazing Animals)
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VocabularyQuiz 1.b 2.a 3.c
REH AL 22X @

Reading Comprehension 1.@ 2. if Kosik understands what Kim is saying 3. @
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It is not common for the animals to talk back to people (CHRE sh= Y2 =sioh
o ltis + FEA+ (for + 2l0jef F01) + to FEAR [0y F0{7} ~5l= A
2Holl (for + 2l0|4 Z=0{)2] FENZ LIEHHTE

Yet this is exactly what happened to Korean zookeeper Kim Jong-gap. (5t=2| S5 AFSAH ZEZ0IA| ofit &)
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Baboons Make Great Dads 7z 2%0|2| £4of

Vocabulary Quiz 1.grow 2. help out 3. care for

R &5 EM @

Reading Comprehension 1.3 2.@ 3.0

2ot Eloh=s A2 Aote| UTH2 OFL|CE 0| AFZO|AIRE! ofL|2t SS0i|7|= sHE-EICE ottt JHFRS0(2| olE S EXL U2
Ottt 7HEHS0= M7IS2] AollA 1R MIXQ! At SiTt IEiXE2 2t 7HTAS0| Ol o2 M7IS, 3] A ISt
OHS A|7k2 HUHCHS =32 2742 sfuic)
0|Zd0| O{EH| SHA M7| ZHE BSOSO ==20| E7f? 24 Ohtt JHEES0l= M7IS0| o 74Zst MEfZE US = U7 SHECL
Ot U= JHERS0l= CHE JINTASOISECH o a| XIZtCh 01 JWFH-S0= X7| YAl 248t M7IE =0t ATt Ot
JHERS0|= MP7IES ES5H =0t D A7| JHES0(= OFsICtn =7Ict, (2) 0|E2 o oSt =7Ict, (3) ottt JHE&0=
7| M7IEE A4S T RS0|E2RE 253t (B) O10|ES EEE U2 251k B WERS0| OMEEZX} 0|22 u UCH

= =L M

[ & BA ISl MolA O} HIEQ! S BAE MIISS RHKOR TIYS WOt OhLjzt MRlxozE Horst
L2 200 =lo= o #=sictn B 4 c,
1. MAS(OixItoR of FHT#0ISE MBS B s =OIFCI0l “Finally’ 2 ASODR Ska8i0l} Sl nixkt ez
Li2iof & Z0Ick Bully2RE| HEsH ZLH 2 OIS 15 M8t 20[0, 0] 20| ot JHRSOISS 71217 = thEAt they=
A2 71 9f0l 2lof Bt

U]
m
=S
§|=|
%



2. protect 255iCHguard)
3. 5 Bl S Ol = JHFHSO0IS2 CIE JHERS0IELCH o Wa| Xi2tcty st It

Baboons with fathers grow faster than other baboons. (~=2C} tt=c})

o FZALL 2ALS| HIWF + than: ~ECt & ~5lct
They have healthy babies themselves, too. (2E XI0])

* Z0{0f| selfE 22! A2 MACHBARID 5HH FOIE ZXE [ 2204 (F0{7t S+ = -selves).
The young baboons feel safe. (QP%5iCtn =7ICY)

+ feel {0 HAE MM LIES EE5H ZCt

The Bird Without a Beak =217t gt=

VocabularyQuiz 1.a 2.b 3.c
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Reading Comprehension 1.beak 2.3 3.®
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FHE S5 2 F27t QoM =2 iHIH 2T AIREC =202 OE 225 S5 01502 42 A7 =I/Uch= LEo|ch
1. B2 S2tAEloR BE0IT F2| Ch30] HEet Mz2 2E0T R21E 27| & 7H2k= LEo|ch
2. 5 ¢ oM Z2|El= OFM(the wild = nature) 22 S0tz = giCt AL

3. Sixiiel Za|e|of et 2Z0I22 (A2 (O= X AMIZ A7, “Lisof"2f Floo2 (B)= Oj2if AMZ £Ck.

ol

Without a beak, it was sure that Pretty would not survive. (£2|7t g™ Z2|E|= MotEX| & 20| 2HIHCE)
o (XA without + BARZt 7PEE LIEHNH, 22{st 79| ZutE L&t = ZSAIE wouldE #Ct

Then they did something even more surprising. (2 o s2t2 2)
* -thing2Z ElLI= U2 0|5 F0Ol= FEAE 1 Floll 20t even2 HIWES ZZE5h= FAOICH

(It) is made out of soft plastic. (~2 ZH=IChH
+ be made out of ~: ZHZE LT f L2C},

Saving the Snow Leopards =% 3!7|

Vocabulary Quiz 1.observe 2.book 3. quit
R A5 22X @

Reading Comprehension 1.3 2.@® 3.
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However, there is a better choice that can help both the snow leopards and the farmers. (=2 4= 4
o ZACHEAL that: 20l U= SAE 0= AL FES Birh

Here is how it works. (2740| 283l= )
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Don't Be Afraid of Sharks! 0 £A¢i5tx| otk

VocabularyQuiz 1.b 2.a 3.c
REH A5 28 @

Reading Comprehension 1.@ 2.@ 3. (A) are; (B) do; (C) are

Falof| Li2E #yolzls i Ttelet ZAIXIOICE 0] M0l AFHS2 Ol 0] S22 Ui FMASICL W2 AMEE2 do]
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1. &0{7} QIZES SliXl= 0] OfL|2} 25(2] QIZH0| JOiE FEESHA F0l= EXHIE =1 {UC

2. ¥0{9| ZH|= AFE A2 X|=20|2} O[S Hot == Haf= OR S0 o3 H=lo|ot,

3. YEPHRI AMME Qigotal ALEE (A2 (B)= 25 Sl AIMIE Mok 5tH, (O= F017 S~(laws)0I122 SAIE 10 %7

Luckily, there are new laws to help protect sharks. (M0{SE ESsh= Ol =20| 2 M22 HES0| UCh
+ there + be AL+ $0{: be SAIS| o= F0{2| 20f HECH
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Sharks have more of a reason to be afraid of people. (EI=5ICH)
¢ reasonS “0|R "2tz 2l0jQ| AR MM Tt B4 HAIS SHECE have reason “Ya|7} QUL EfsiCE
(be reasonable)= 520|0, 047|A reason2 ‘27, O|X["2k= 2|0|Q] FAIHALICE,

1.is—was 2. has studied — studied 3. (&%) is—willbe 4.was 5.willbe 6.is

1.common 2.quit 3.calm 4.voice 5.0l 6, 2SI 7. dt=Esict 8.22] 9. 10.®
11.@® 12.@ 13.breathe 14.protect 15.book 16.discovery 17.share 18.talk back
19. look like  20. be made of

A3tet HAtof| LERE= ¥ 0]0f7| (Stars in Mythology and History)

The Sun God &

Vocabulary Quiz 1. bright 2.ancient 3.name
S A5 28 O

Reading Comprehension 1.3 2.® 3.3 when—that
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J2{Lt 0|Zd0] AHMILE HAI0IUH ZI2 OtLICE 110 0= QIS2 HEA| sl EfYO| StES 7122 ZX0[=X] SF6i/Lt. 252
X7t ApEeiths Ag SR 252 LS0| EiES B2 U0t M2t

L2 US| ENL2 Alte|(Shamash)2h= 0152l A10IACt ORI AfOtel= shE0| wf 20| B W7kK| Xpalo| HEmt
A SZ Mol 2 A0l 7|CH2| 2 QUACE AfOt7E 2o S2HRT BE0| #2E B sk=2 Ho|H stss 71222 Utk Al
Hit= 30| MlYS HIFAUCEL 12| BS2 MZ Aol CiCHS W7EX| ERICh 747]0) 0|23 CHE 20| EXICH Altels 22t
LSS 0|81 O ZSS XILIZUCE THAL 8 10| =IACH
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20
. wonder @23| ®{7|ct(question)

9| wheng MM “~& 0f"2k= 2|09 RAFHO|ALL "X ~Sh=XI"2k= 222 UEHh= BAFEOICE think ChSolk= “~2t2
MBI = HARE0| 21 F2 thatS MALE MBI

—
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woN o= g0

The ancient Sumerians wondered how the sun moved across the sky.
(Ef0] oL sk=2 712E2 22l0l=X| ZZsHFICH
* Itis + wonder + 2|2AE: 2|29| LHES wonder CES0f| A=, (QI2AL + 0| + SAD L= (Q2At T + SAD
=

According to the Sumerians, the sun was a god named Shamash. (A0t 2= 4)
o (HACHHAL + be SAF + SHEAY/ZHZADOIA BAHBEAIRL be SALS A2F5tTH



Chiron the Centaur =reieior 712

VocabularyQuiz 1.b 2.a 3.c
Y A5 =M @

Reading Comprehension 1. (A) live; (B) problem 2.@ 3.®

Cto Mzisk=71? i J2|AQS2 O M2siX| (b=t asel Aat & sit= 2S0] of a8A

T—i i

= il Z=Ch.
1 AMsk= 7|12(Chiron)0l2k= 0I52], Bk2 20|11 Bk2 ARZQI AIEFR2 A (Centaurs)0ll 25H ZI0|UCt 7|22 = LIS AO[oflA
Eiolt OFSO0IRUCE Llof of52 22| EX=, 1 2ol 50| =5 4 giths A0IUCH HE A 2X|2F 7|20iAl= o L2

7122 =0| 22 ko ¥2 Flole 2 XIHAZA FS 7t Uk o] M2 = B2 18S A =k @ 7I=0]
oA 19| MEs Aol MHnt uiyoet ik @ 1 7|22 Z20|ElRA(Prometheus) Al0] B2 2 Qlok= g SACL
B a%2 D20EIRATL Q7SN 25 ZEMCH U] HHE0IACE @ CH2 AS0| a5 Hiflol MAEE Foisdich B 7122
Z2MEIRAS E0IF7| sl XHIo| WEHS Z7Bict 1 7 M50 el MiRA(Zeus)= 7128 G| sksoll 7| &22M 0f7]
OIS FACL XIZE 2= HEIRRA M2 252 o 7IES Sk=0M 2 & AUCL

[ A5 BH U2 T5S 7l =l G| A 7 5[ L 2olojA B2 WS 31| 2 20122 (Do HESict,
1. GEo| Ak= 7l £2 72kl d2ish= A= JX|EH 7|22 BR0l= 18X UUCH= Ho|=22 A HiZtoll= live, 5 H
HIZtolli= problemO| MESICE,
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. excellent %HZl(great)

3. S Y SI2lof ] 7120| £ 4 QU= WIS XHAl| MHS CI2 Alo] AT ok BTk Askn ek

It caused him a lot of pain. (207 %2 1SS LoiCh)
* cause + =X + ZFP=E0f: ~0flA ~E o7 [5ict, Yo7 |ct
It was because he had brought fire to humans. (~347| ti£0|ch
* it2 ool U 7k2IZICt Z, “9fel Yo| Yot 22 ~3H7| mEo|ck = SLolct,
After this, Zeus, the king of the gods, honored him. (A152] &2l XR24)
* FOIE LAIGHE 52 0] 229| 7|2 AL Zeus honored himOICh F0{ Foil F716t U2 MRA0 Lt 25 Mot
SEQ| Uoll= Yol HHEE FIISICL

What Coyote Did to the Stars st=oll 22 242 226

Vocabulary Quiz 1.mad 2.toss 3. shake
REH A5 28 @

Reading Comprehension 1.3 2.3 3.®
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1. A2 ARS0| shsol EES At so8i= /20| TIME= IFHoIM HoZl Y2 Maskn ez (39 efo st oge

=06l

2. ALHOIH =22 QF6IX| 2 A2 TRH7H = EXIE Yo7l= EH0IY| HZoICk
3. (A)Ql think Ci30ll= 42| WS LsiF= FAFHO| 20f 522 that0l, (B)= “0IR2 ~ Of

g olict'= o222
becauseZt 2H, (Q0l= ZLHI7t 17} H 01RE HHSH= BEAEE 0|11= TSAt because?t HEGICH.

Mo

However, they didn’t invite Coyote to help with the process. (ZRH|OIA =etztn XS
* SAL+ ZX0] + to 2-AL [SXO{oIA| ~sHE 2t ZChsict
This was because he was considered to be a troublemaker. (Z*4%0|2 0474R{CH
+ considers SRTEISAIR A ff Foi| (2X0{ + (to be) + SHEO)H7 2=, 01240] +SE| EXoZ HEE|O] (be SAt +
I7H2AL + (to be) + =ZE0]) FENZ HFA Zdo|ct,

All of the beautiful stars flew this way and that way into the sky. (0% XZ2=&)
o BARH 2AL BU2 (FHEAL + BAROIX[ZE FOILE SX0|LE HOE ARSI UX| RS2 EALO|C
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The Woman in the Moon il At= oiel

VocabularyQuiz 1.b 2.a 3.c
REY A5 22X @

Reading Comprehension 1.@ 2.@ 3.®

AIZS0| ShE0IM SHES £ 4 U= R0| ESTU0| OlL|Th AIMSE2 =HollME S0|22 XRSS 20k o ARER2 B7| 35,
=2 Ao ¥=2 20t 0j22|(Maori) 2IE2 Zoil 6iXprt 8t E a1 ke 21 3 XIS 2LH(Rona)2td 015 XIUCh 2li=
OfE7| ol Z2tE7K?

0jez| IS2 0| Zelct. "ol & 2L} & YS0IE 71X EOZ Jh= Zojl 20| 75 FIZ U O 0FRIMM 2Li=
2 27 YACE THE LIE0] LI o Za2|A| =IUC 2ik= ofTtM 3t L EollAl 22 HERACL 0] Mol 2ol = WA
|t 22 2Liet 2 YS0IE ET0t 7IM ZLIE T HRICE”

OIR2] AIMS2 OE 22 2 I & YS0I1E 7K 7h= 2HE =0t J2|1 O82 2L7E 430

2=t

= YXIE W b7} 20t

FEY H5 2xl ofez| QIS0| 28 E 1 2LR 4S0(9| 0|0|X|E mE2(A| E 0IRE & = U= TS AJKHFICH
1. upset A StCHmake angry)
2 2 Bt YHE MESECtn AGsIE2 0] 2 AoM= EE B m32l= o2

. A EHOIM HollMot "as B Al ozt 2
71X O|0|X|S2 TARIES 712 @55t 4 Qict

. OIR2| QIS2 oM 2Liet 21| US0IE 2ot Jch

w

It became very dark.
o SMLE 71 MBS LIEE I itS T2 MH siAdSHK| =L,
She hit her toe on a tree root. (Z71210| LI2Ea|of ZRCH)
+ EtSAL B0z 2G6HH o=l WO 2 HY 4 Qli= SAKSO0| QUL 0|3 SAE2 “YRICH 1 sllAsiH 822 MX| of=L}.
0l& £01, He burned his hand= &2 EN2 Z40| OtL|2t HI2! Z40|H, She broke her leg= CHEIE F2{=2l Z40| OfL|2t
Seizl Zolct,

Seven Special Stars =524 ojop|

Vocabulary Quiz 1.form 2.runaway 3. point
Rd A5 28 O

Reading Comprehension 1.@ 2. freedom 3.5



DIZ0ls 44 B S0t moiS0| UYL 01 el SIS NIRRT, SHolMS Hojl ol5l0] ARS0| =0I8 AR 4
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4(Drinking Gourd)O|2tT BRIk 2 0K f M 2l SIS BN B2 JlRIZC) Of2 01R2 152 M2 2ie B3t "2

Obe! I M= S2[E dig m2bict 2H =210| UE KRz 2=st2|L.”

S o 2R HS HD WS FY ot XI=7t ALE RIES & & 27| G2 Zolck
0| oS0 2oz TUloiA A2 4 UNH Weloz HjRlE Avfskn ct
B2l ot Dogo| HXIRIS HfEp kY BROR Jh| £I0f T XIRES LA Erts =ojSe) Ay

L2
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They called these seven stars the Drinking Gourd. (0] ¥& 72| & £ DiAl= Ol A= S2|Y Hlo[2tn =)0
¢ call + BAL+ BAL ~& ~2l1 220t

Follow the drinking gourd, for the old man is waiting . . . to carry you to freedom. (.=210| 7|ct2|1 L7
* Z&ALfor + F0 + SAL for7t FEAIR M¥om “elListH ~5t7| IhZ0|CH 2t shAMSICE

1. After 2.while 3.because 4.if 5.after 6. until

1.sunrise 2. myth 3.naturally 4.punish 5.3 6. (=) et 2sCt 7. stfA sttt 8. EXICH
9.@ 10.@ 11.@ 12.® 13.@ 14.shake 15.shine 16.lock 17.reason
18.comeup 19.inorderto 20. gave his life

=2|&t (Physics)

What Is Everything Made Of? zt=2| 2

VocabularyQuiz 1.b 2.a 3.c
Y AS 22X @

Reading Comprehension 1.@ 2.®  3.(® studying — study
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)
ol
)
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AS X|EO| F2[EK2tl £E 0|RE st U5 Z “S2|5te| OfHX|"2h= MiF0| HHSICE
eilAT} x|Z0| F2[SiXtolL] o[Me| S2|SIAE2 US 4 |l
=

(@ studyingo| Z&tEl 259| thinket study= 25 SAt like@| SX0{0|H and2 HZEO] QUL ofuf HBFEE 0|00t
SHEE to think0ll %304 to studyE M=0 to= 0]0] A0l USSZ M2F5HTt

W =
i
s

4n
0

It gave Thales a great idea.
* AF20| Fofe wh “T1230] Joj|A otolC|oiE FCHE HARCH= “T miEo J0iA otolCioi7t mERCH D shAlsHs 20|
RIHAARCE

For him, the answer was easy—it was water.
o+ Ach(—)2f SH: AcHHI[CHEXE MTF 22 Z20[2| thisll= 2 HH

1o
w

I Ak

o

=

The Death Ray =52 2

Vocabulary Quiz 1.cause 2.weapon 3.invent
Y d5 26 G

Reading Comprehension 1.@ 2.(@ 3. However

ok27|m[elA(Archimedes)i= J2|A0] TiixigiCt, i 71947 28710f EfOIRiCE, i B2 HSS LI 277K SISt
U TASS 17t et “F30 BA'S DISUC J12Ct,

OIS MXISO| Ti2B Of=7|HiEIAL OFF 013t 28 WHYCE I U2 7SS ASs| #WS Ut 1 O JE o WS
HES Ol HIEQIC, O] THE0] BHSO] OFF EE74QIX|7 SIACE. S#RI0 CiTk7| B2 X0l BiTIolA biol 0| ZCt,

BN S YSRSS £29 To BAUS WA EIRIC USXISS T 529 BUS MSHT ASK| HCL Al
OFF E M2 UTE, BIXIt Mt =IX| QUTH OS2 LI ol B8 2 SZA YU 1SS F20| Fio| o
HHOIN 42 s PI7H 4 QUCKD LZICH TSIRISO| FS| BMS OIS S YUUKIR, 0f27 HIAT} LS R JHx| 27l

SO Of15] ARREIC,

FEY AS 24 ol=7|mHiolAYE LHSE 27| & OFEE AREED s F7IS0 oist HHo| L2 Ao|Ch =32 &4M0f chet
0lof7 = . 0|4 LIRX| o= Zo|ch
1. HHSO| of27|HlHlAA 22 HXCHE HE2 it
2. build HECHmake)
3. "E2 Mz ZIC T o =1 O Sl “MZIHR £IX| LUCH T Moo= hERo| o|n|E LIEHLY
ooz F&EAbut2 o |1 MEEARR! however?t 2L0F ST

Zo{oF BiTt. SZtoll HEIt

mr
ng
mjo

This caused the ships to get very hot. (11 =HIX|A| sich
*+ cause + =ZX0] + to 2HAL [SX0{]2 otoiZ ~5H| THSCt
Much later, modern scientists became interested in the death ray. (~0ll 0|2 Z| =IACH
SEA: becomel| BEAE 20 F0{9| MEN7I HeFISS LIEHN=M, interested2] A= <in + BADE MM “~0f 2Ha]
24| EIUet = S20| Eo

=

.
o

>
o
[T
Ir
il
gl_l
re
o
0
Ol
=
jn
il
rir
o
0

Why Recordings of Our Voices Sound Strange =

VocabularyQuiz 1.a 2.c¢ 3.b

Y o5 Ed @

Reading Comprehension 1.3 2.6 3.®@



RHlo| BA2IS =S5 & H0| YTk AAle| BAAE SOL| O SHEIN? B2 ARS0| =38 S2FE Ab|
SA2IS S % A0fsict, IS K| 2A17} 05 SRICkD Aztstct, 50| ek

742 BT S0 Y 20| OIS WA AV} Uk STt DI SRS Eim I S D2l 2 Aol 24218 52
4 Uk Dol LS B w, 92 Ko BAS T2 SEC) Shzls 22| Hol B Mo SIEA| £ IS SHRC 3719t
KBS Snishs Holct

@ ol 2ol R2I7t E= Ao| HatErt @ =2 Als €7 715 Sasih @ W2 Azk= 22| Hzloll U= S HA
St @ 21N REl= 22| E42IE 28| C2 £ JIX] ez EX 2ok § 22l =2E SA2ls I7Ie Sask=t,
0|0| =2& =427t o &1 Cth27 S2l= 0IK0[Ck

B ol 2 S24el =S5M SO of &1, 02X S2UCH: RIS 5t ok

= 40

LM B2l sSE BARlE REVHEE $EI9| SAa|9t ZE| FHHES SR 21 B7(2 S1i5| R0l = 7EX| SER7t

QCHE @2 ERILCL

2. F 7K BA2E HEIHB)E Soll £ H2 A2t 37|12 Sl E= == A2(0|22 MAIE2 two versions CHS0l| 2fof Sttt
=

3. (A)= to hear 2 hearing0|H, (B)= AM=FE F0{ they CIS SAF 22|11 SX07t 222 552| At reaching0| HoH,
(02l sound CFS0ll= YA EO{E MAO2 different7t ST

Did it sound odd when you listened to it? (0l&sHAl S2ICH

+ sound= “~5i SEICH 1T siAdelH 2|2 HEANE MOt BiCt oddlyZt Ozt oddOICt,
That’s how we are able to hear other people’s voices.

+ that’s how: 10| ~5h= 2Ho|ct (27| siA ~sh= ZoIch

Before reaching our ears, the sound waves must move through two things. (2| #oil Ctct27] Fof)
o EALE: 22 =2 Before the sound waves reach our earsOICt the sound wavesZt BFSZ|22 0| M2t SAIE
-ing2 R Zi0|Ct,

That’s why it sounds higher and different.
+ that’s why: 3240] ~8l= Ol/0IC} (2 20l ~5h= Zd0|Ch

High Heat Cooks Slower 20 22/t & £7| 2joi2

Vocabulary Quiz 1.rate 2.feel 3.startup
REH A5 2 B

Reading Comprehension 1.@ 2. ¥ 2a|E 17|90 7t HE XEish= HEHS 610 LIFEZH A 2=t 3. @)

HuA= m22 A2lS WD Y= AP IS B BICE JEE= M4 2215 ARGHD A| 2o AIAIE 2UCt @ Stxigt
J= ol 8f JZofl £2 £¢! Fo|UCh @ HH= 147t £0ksk= Z0IUCH B Jut= ZZFCE TR0l 171 galskH wWa
ZE|EI?”

@ == g2 "ottt (5 17IE TR0M Q2|5HH HIZ 2Rt wa| ol=r} I3 2to] A= o] 235(2f AlZo| o Z2ICE of
0|21 Lol LoiEt? 20l 7T HRZ BE2 HR0t #2 JEE ol7| ARl 2ts ARIA RAIAZICE SHXZH SZt 20ilA= ML
Qtut BiS 22 £5= g 4 ATk OEA| R2ISHH 2lsk= 0| A= O 2L

HLA= HAZES2E 20IM 27| 7Ick2)7 |2 2 E30E 2 2 7 MuAE=E MY AAE E7112 AU

Qe o6& BH W2l o5/ n D20| R2I5K| T B2 B0 25l 20| O HE YHAS AeFT U
1. Hi742 R21517] AIHIRt Of= o AlZto| 22f 27t 8 TRl F0Ict, @ik LRE| S
2. H0j B B2 £20| HR0t 242 32 510 17| HR2| TS Ath(keep out)i0] 1717} £l K| e=Chn Sict,
3

. ML|A= stoveZt OtL|2t OEE 2|5t UCh

Janice felt her stomach. (HiS 2tx| EQiT})
 feel: XSAIZ 5tH “Ofd 20| ECH = HO|1 EFSAIR AH “2HY HOf'= Zo|c),

U]
m
=S
§|='
%
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Then it actually takes even longer for the inside to cook. (2t%0] 2= %)
* 71501 it: it takes longerZt Q0= EX0f| RSt @4 Cf ULt &, it Foll LI2= to E™AITE CHAISH Z0ICE to 2EA
ZFO0{Z (for + HAHE 22t
It’s actually faster to cook it that way. (23 Aoz, 227 51H)
+ itQ] IS A 9| It2 F2| to cookS 7I2]7|H F Q| it2 & 22| the burgerE 712|7ZICt. that way= “I2{st galo=z
5tH, J2A stH"0l2k= Zolck
Janice decided to wait for the burgers to cook on medium heat. (717} 2171E 7|CHiCH
+ wait for + ZAL + to 2E-AL [HAHZL ~51715 7ICk2|ct

What Is a Wormhole? &=o| &x?

VocabularyQuiz 1.a 2.b 3.c
Rd A5 28 O

Reading Comprehension 1.5 2.@ 3.

o2 Mo|UAe AR Mzlzl= AEo|ct stX|2 “@Z " (wormhole) {2 12| MO|UAX| & Zolcth. a2l EZolzt

E2 o] Fo| OhICh BEOIZ AR ARZIn 2712 Salss HZ0IT AIRSS ¥ES Sof s Tt Iz o
Qict. IS @at 20f olop|M SaIXIE, TSRS 0] OlES XX YTk BEO| EMBITLT XS LE At
EfQI(Einstein) 0I24Ch 1= “AIZ2 Z0| Bt ut et B0l Fojiat Folo| UREnt ofgisiz0| 2l Zolck, bi2 1
Fofl 20| ek 2,
YES SUBoRM T2 ARIOR GI##2 & 4 S 0IT SIXIE BES k510 ofisls 22 AR 4 US oIk, Y
TR T SOIRK| R 2= UCH FES SARKE L7ist Hof S| Foj A2ish 2ak 3 0 B RO M S| S0tex|

g

ol

T O95 2M HES Soll AR ™S Sicht XABIsHA THE 7oz JiM S01X| e+ AT etz SZHYoM 2=
o

8= o UCk= Ao Kok

Juy
0

. BEO0| FNAUX| A5 ACE BEE0| AlZE ofRlol O|Xl= FEo| ofLizt BES Sl Al ods & 4 Atk Au, BES
7
2. XMSLE =0 chell 2Tt AIZF2 OfIERRI02f 1 JiCE 2 UZSH EXl= & & Qlu, B0l= HEE olslisty| s ARZEt

3. think before jump in0llAl beforeE TEAIR M 0L SAPL 10F 511, HXIAME MM FXIALR] EX017t & o~ U= HA
jumpingS MOF it

Make the top and the bottom of the paper touch. (50|2| SIF=21t OlSHR20| 27| 3t2t)
+ make + EX0] + EX HBO{(SAIE): [SRO} ~5HH THSCE HHE0I0{A 32047} Sict.
By going through a wormhole, a person could travel to another time. (2&g SIE22M)
* SAt go| SHAL HEH goingl| FOE MX| %42 0lRE FH2| F0{ a personzt S5H7| WE0ICE = HAGHOF & f
ARA, 34 =2 SXMAS 201 (0l his going).

rr

1. swim — swimming 2. fish —fishing 3. to take —taking 4. By practicing daily
5.go jogging every day 6. Riding the subway for long distances



1.ship 2.author 3.wonder 4.space 5.&x6ICH 6. 22 7.%Hsick 8.0P6KE 9.@ 10.@
11.3® 12.@ 13.splash 14.record 15.tunnel 16.machine 17.medium 18. catch on fire
19. interested in  20. make fun of

2P X| 23} (Remote Cultures)

IKung Click! 2 =2| £33 2lof

Vocabulary Quiz 1. well-known 2. regular 3. rare
REd A5 28 O

Reading Comprehension 1.@ 2.@ 3.®

UX|TE, Z(IKung) ZolAl= HZ xH= Zol| 2|o|7t RACk 2 B2 of=2|7to] Atet
o)’ (click language) 2= SHSIC.

2 Zo| 2loj= ofF S0|ECE 252 YAt Lot OEDIX|Z YUEkHol A2l Wict X2 2 £2 2t 1 312 x|z sif|

J52 & MM 312 2Cht HEICE 0|H2 Ushs WX = S0l X EUX| Z2X|2 o AE2 AN 71 2:24F

A0{9| HEH= S Rb= HOEtD T=Ch UERUAE 2 F9| 5 X ¢S Ushs ARES| &= MF o £0{ E1 Lt & k=

Aoj= OFF S|7sHR|T RUCt CHE H2 & XK= 07t 0|0] ARRFEl ZAXE 5| ARREX|7| Toll 2 F2| A0E F5617| s H2

AHE0| =26t QU

4

Y & 24l O 5 iz Q0= ACkD FHCE OF=Z 2|7 H HH0|M ARBSH=Xl= & 4~ 8i1, 02! 010 |= Loty | of22X|= & 4= giCt
click language 2| slLol 2 2| AHE Alfsk= 20ICH
@) 22X HHIE SAlGHE 2ADL EREI22 SadS Sadly2 X0 Sict,

3. rescue T5iCt, F1E5ICH(save)

40

N =

Make a clicking noise with your tongue. (& Al= 22|15 Lizl)

* BHZ0IM= OIS dfsh=|, 2ol Foi= 25 7L 22 E= Jui2! youOlCt

Avery old tribe that lives in Africa’s desert areas. (A12fX|=)
* BAIS HZ610] Die= PANL: BS 0] A= AL ASS 517| HZ0] B HERS 20t 5 BAE Mz FRE en=
SolsHof St
T — .

Many people are trying to rescue the !Kung language before it goes away forever. (17230] Af2tX|7| Zof))
o AjZte] 2AREOA of2f chdl ARZEl= SR AIK|: OFE! AR2ERl Z40] OFL|E2 Af2tKl= 22 Oj2ie] Oo|X|2H 3HxK AMIE

ARSI,

Makeup of the Surma =0t 2| stz

VocabularyQuiz 1.a 2.c¢ 3.b
REH 95 =M @

Reading Comprehension 1.5 2. (A) odd; (B) beauty 3.®@

220KSurma) S22 0

2 o|c|uotof| Mt =
TZ0|E Bith 22 0|H2 T5f OlsHX| 24t 5

0f Y2 T MI7Ie] ofdSat DIEVIXIZ O OfSE7 2017] flsl s st
X2t as

9| SHEEO= Bt 71X Agtol| @l #Z0l= o =ct
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S2 I ofSCe M2 EMolatm AZst| TR0l PR SI Wit 152 B ¥2 FHE s st mul=
0] CIYSH HEHS BIS7 | BiCt 02 S, 1SS HolLt 2, £ DYS H3of 12l PR Bk

CIRISS B0 S e % Qo= ol ACK FHE TS ASPI= Btk Y 220 2SS Y= BS ISC) 0f B
S2(7} 13MEIDE{0] 27 300T0| E LIZPIS Bick XS O/ 21 242 HSS AI5IR OLmAR ARIO| & XlLtet
252 1 L 70f AR,

SEdH AS 2d HIZ o 280l 4= Some Surma people2 7t2|7Ict,

1. 201 QIS0| OFSCHAX|7| flol HAlsh= Ws Aot ot oX| sh=Xls HE6HK] LUt o] o] thet HE= SiCh

2. EQ0IS0Al= O|E2] &0 0l&f5H(odd, strange) EO|ZIX|ZH =20t QIE2 0|2{8t #&0| HISS O OIEEAH =0l
Sict 1 QlCt

3. S20t Q152 & TZO0|7} ofL|z2t 31 F742 HAOIE shk= Zo|ct OS2 olC|m(ote| §t 2X0|H Ao EE sith= g2
e, Y=ol Ee a2icko Sict

They often paint their whole face white. (2= 52| ZsiCh)
+ SAL+ SH0] + SHEN(EHEA): SHEE SHAE SAIGHE HEAL HENS 220t

For example, they often draw stars, moons, and hands on their faces. (252 &2 J2ICh
o HIZEALS| 2|X|: HIZE LIEILHE sometimes, often, usually S2 LUtSAt &, be SAL Fl, ZSAL CHS0| A= 20|

LHPHO[X|2H sometimesAE M 2f0f & 4= U= A= UCL

It hurts to wear these big, heavy things. (2:&31H otzrt)
* hurts EFSAIZ 513 OfZA| SiCt, XKSAIZ 51H OfZCH= ZO|Ct o] 2X0iM 1t0] 71217 = 22 Foll L2+ to wearO|Ct,

o

The Male Beauty Contest 2== = 2olgf Hg tf

Vocabulary Quiz 1.puton 2.color 3.show off
RY A5 28 @

Reading Comprehension 1.@ 2. (A) usual; (B) hard; (C) happily 3.@®

siiofct opzal7tel E22 2152 0r20i|A O SEtt AS Z=rt 252 012 MY thalE SX|2 0|62 B8] 6ESS 2let
CH2|7} ofLct. of 0|2l chel= HAtERtE

o2 HASS &5k o i FAs| =it (D oIS
EVIRIES F20| H2M 22 L2 S2E sttt () 2oz 152 ¢ =

I ChE OS2 RIS 2125 WAlsH | sl £2 ECL 71 2 & F= AIZ0| R2|=2E JHe B2 2 2h=Ct 0ix|ol=
XFHELT U FH2 HES0| ZEoll o2 &S 1B HE2 HRIE !
Al OFLHet 7l A=atA| i 4~ QUCk

S84 AL 28 MAIZ0IM these clothes2tz gloo 2 0| st HF FQ! @01 2of Birt.

1. OHHE 7| el 22 E DASICHE B2 2 QIE9| T&S AUKstD RUct

2. (A)0ll= BAE Aok A HRSICL (B)ol= SAt tryE Ak BAPE Hest, hardlyE 2™ “7{2] ~5IX| b=Ct'=
20|22 “Fal5|"2k= 2n|2| hard 7t AESICE (O)0ll= SAt leaveE $AlGte BADL EQ6I2Z happilyZt X6t

3. 5 Hm CEhollA 22 29| HA50] 0|21 tH3lollA R&517| s =21t eleol 2 sictn AZsi QT B2 GXHE0] &odsk=

CH2|0|H Swet 7 U=Kl= Y 4~ 8iCh HES0| B s Oe2 YoM HYo| MEtS $ith= ¢ig2 |lrt

Every year, the Bororo people of Africa celebrate a very special event in the villages. (Z+=Ch
» SxHol|= shEshe ARl oll= SxH AIXIS 2Lk
They dress in their finest clothes. (Y=CH
* 29| O0|E = 582 XISAL dress= EFSAIR MM “USICH = UO|X[2 XSAIR MH “=Ct"= LO0|H wearlt are
dressed inSZ CixE 4= lCH

At the end, young women that have been watching pick a man they want to marry. (150| Z=5t1 A2 Xl
+ HACHEALC| M2f: 2= a man [whom/that/who] they want to marryO[X[2F ZHACHEALS A2HHCE



The Google Tribe 70l =2 72

M
B

VocabularyQuiz 1.b 2.a 3.c
R4 g5 26 G

Reading Comprehension 1.@ 2.(@ 3. don’t have to fight

22| HEE2 & W20l MZS 6o & 2e= gl
40 TR S O &2 2R Mol oheh &6 UX| RIUCH SHRIZE EoF X|LEX| ot ARYS0| 252| Tl &2 HIoL7|
AR 2AXRIS2 770l &S THET A0 STt SHX|ZH 0| g™ 20| S22 TS Y7l 2 N0IRACEL T2hM 0] RE2 HrY

SEX|TH OMRE X|HQ| £20](Surui) = ARZS2 i 0[H LS St

— = dJd
Mol thal Bi7|= ZHCH SEX|2E o 2|2 ARYS0| OEA I4E & 4 UUSII?
OS2 Y o S tisholl 2RI 201 0] ShYo| 20| =2= LEIUCL =2 O 2 BX=0iA| ofokE X|H2| 91y ol0|XIE
HUZECE OS2 0] AREIZ 0183l 2=HESS FOMHCE 0|52 E=ES0| LIRS tHi= XS BH FEo| 22ich aSe| Halsh= 52

A —
m2ol 2 252 ZiSshM & X|Uin QT SIXIZE RAA-AIE CHE 01| Als ARMSE 22 2HIE 740 ct
FE A5 2 FAS sl BRlenz QRfelo] MES Aofeitls A= ol 1 Hoil S RS £33k Uk, 720
CEE QERT HEH| ot 2X|= A 22 dEo| 2 Zo]ck

1. image O|0|X|, AFEl(pictures)

2. OfX|a} S0l OtoRE 23 X|SH0|AM 20| 0| Zaish MEHANC| EXMIE CHE X[FH2| A—SE 341 ATt HSJIEZ HE0|
FARRE ARIS0| = 012430] 4718 7hs-dol Aok

3. “~& TRt eir'= ESOZ don’t have to, == don’t need toS ARESICE

Later, this student asked Google for help. (720l ~& LF3HCH
+ ask + SX0| + for + BAL: [EX0{olIA ~E 26t

When they see them cutting down trees, they tell the police. (2S0| LIFE H|Z U= AS ELf)
¢ see + E80] + -ing: [FXOPt ~5i1 U= RS B

Shot by a Bullet Ant Ateizi ol Zof 44

Vocabulary Quiz 1. painful 2.tough 3. horrible
Rd A5 28 O

Reading Comprehension 1.@ 2.@ 3.®

ofatE oll= &X|2E L JH0|7F A7 ACE 0] ZHol= MIAI0IAM 7FE Of= 7| =0t e2{RCt 01S0| 5 JHolo|H, 50| =
AZL Of=C}. S0l 2 ARFFO|Lt o=ty 2RIt ot 50| Z|oi 24A12t AL EICi oith. tRE2| ARS2 0l JHolE

—_—C oo o=
Za|stX |2t AlE2] O12li(Satere Mawe)2h= BF01 252 OES o RAMLISHX| h=Ct. 252 MMl 1 JH0IE ARSSICH
AL =EH AAS2 U ool S2{0f STt M 0|52 EE8 UHRYC= FUS U= CE 7H0IE ST 2ol E=Ct
2HAS2 0| SEF LS 70F 612, I ChS 102 0ldS &5 &1 M U0{0F it 250] E4 411 M = St =8 of2[e| 7Ho|7t
asel &2 20t X2 B8t =ZoIcH SHXIZH O] HRE AAS2 Melez ZEREICH

1 e 0| XEM|7H FAE= ofLct,

FHE A5 2 Y JN0IE 0185l HRAE RIE= AlE2 Oigll 222 AJNst
1. 5 Hu SN Y ol A= S JHOISO0| AlER] Ol BE AAS9| &
A =

(el

o
=
2 7017t B SH=XIE LIQX| 2400 T2 RESE 0] A0S HEXls o 4

Tt st Aok ZH0| m=oll ZACHE

ma
ro

2. JHOI7t = 52 &2 4 oo MRIe2 QIFsh F= £&9| H&2 Mastn ot

3. glove= BAO|EE 1 A0l BAE A5k BEAL specialS MOF Bt
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It is said to be as painful as being shot by a gun. (~& %= ZTHZ0|Lt OFZLY)
¢ as + P8Al + as + H| thed: ~PHE0|L} ~5iCh= 2o|ct

be said to + SAHS| SEHZ =QICH.

It feels horrible! (B%I5t =7Zo| EL})
+ HOIE ZQZ sl= SATXISAL: look, feel, smell, taste, sound Z2 SAtE MEHE LIELHE EOE ERZ
AL HEAIE 2t E5| QELRE BAROZ SiME|H2t= oo £A

on
=
s
2
2
mr

i
&
52
El
ook
0

00
i
rE
inl
rr
1]
2
30
10
=o'|=l
=)
ro
0

1.newly—new 2. house pink— pink house 3. brightly — bright 4. Unfortunately FI2| &% X
5.late 6. were walking

1.tongue 2.bite 3.meaning 4.desert 5.7 6.25° 7. 4%t 8.0 9. 10.®@
11.@ 12.shape 13.tribe 14.forest 15.pick 16.modern 17.Puton 18. well-known for
19. show off  20. fight for

57|14 (Curiosity)

Falling Frogs 72! &l

VocabularyQuiz 1.b 2.a 3.c
REH d5 2™ @

Reading Comprehension 1.@ 2. (A) surprising; (B) shocked; (C) falling  3.®

SHE0IAM HolXlz 22 =22 40| gith 2= IAS vl2tn B2t S| BojXle H+ele H2ta 22717 198740
2ol 22AHM(Gloucestershire) A 12 o] A2 Lo{Sict,

Jt ZRARMOIE BI7} LR, DS B U QolRick SIXIS 0 ARSS B} 01AEH 22 Uokct 352 K
HE0| HlEct Cfet 22 HYTH 1SS 44 olzlo] A2 BEA st S0l Hoixln s #S Bu £ Wt 1
IHTRISS Aol ARIEEECIE o AQich Ciis] 1 5252 MXES UKl Atn, 1Y el HHoR ofs3ict

SEZ= O F=0l 2oT! 7iF2IS0iAlE 24 o oldet ol JRUCEL I IS 2 S 2AEM2| A0| Ot
OFZ2|7}0ilM = ZOIUCH TSIXS2 OXS0| O1EA 2ZA Ea| 2E=X| OFXE 2lofsl st /Utt ARES F
Z30] AACEL T 3 JHFEIE2 OEA| 0] 230l Hotd2 A7 OFRE= RECt aFX|2 o JiX|=
S2ECE MM US 4= AT

oh 2 77elE2
Sif =2 digt
l= Al7|st

039 -

HI HI
%5

Ho
o [E

LI

|

Qe 65 2R Al B TIIA 0] JHT2IS0| OfEA| DRI 2 EIRUEK| BSIRIS0| SlofsH sk YUt 1Rt @ Hof
OFx| O] 247l BaIx| QIUckT 28 4 Uc,
1. 20N UOIRH Biatst ARIS Avhstn Uck
2. (A= 20| 00|22 AjRtS 52b sH= H(surprising)oIct, (B)'= AR0| h7al7} Hofxl= 2ol 242 2= Z(shocked)
Olt, (0= Jh72l7} Hofxlm Uk Z(falling) Ol
3. 22 ofmaljolA ARIEIAT HTRI0l A0| HIZCHS 22 it JhTals ZE0|= AoiHon EZ0| QUat0| Uojct

ARUX = & 4= glch



We call it rain.
¢ call + E80] + EXH0|: call2 SATESAIR AN [SX0{]E [ER20{]2tr 220 = o|0|S LIEHACE
They saw more than just a typical rainfall. (X 22| b|=2C} CISH A)
* H| 2ofl= 2 20| UAUCH= Zo|ct.
The animals were not hurt. (8XE x| UL}
» ol0|&e| F0je] M2 hurte XISAIR "85 L7ICh OfZCH'= 20| EISAE M
ML XS K| §4UCH= HO|Ch 20j4e] F0i= by ChS0l A=r| 24 o =~ Q=

yze

Ho

The Amazing Survival Skills of the Toad 72! =2t

Vocabulary Quiz 1.stuck 2.probably 3.alive
R A5 28 @

Reading Comprehension 1.@ 2.@ 3.0

=2 U= 9 etofl U= 7Y Kol 25 AT Jfell Eat AMet 37|= SAE S5 glth oftte g2 SiE 2ol I 2
Zdoct. SER|ZE ZHTE|et FiHlE O RoIME HOtES o AUCL

AIMS2 Hi9l & 7Y ClolM Hof = SES 8 H2E Las At ==7h= 9003 Hofl o2t S20i| thsll 25 47|= 3Hch
A M0l MEH, MY =SAS2 EF Hi9 QollM 02 SES LHUCEL 1818H01 =SAHS0| HIY £0i U= FHOA Ml
of2|e] s|gket F7HIE LA ARMS2 O F7HIS0| 22 Tol| EBS3UCtn A2istn AACE 1897H0il= B At olefet AE
Ut a3= A= 8 &0l FAHIE 20 FUCh £=27171 30 Foll A7 | M FHIE LAY FHHIE TS| 2ok UACH

0| SES2 &2 Y2 IS FXBICT LHRCE J0E MUSXE2 F7HIE A76ta U teiRE2 01S0] REH
FA0IM HOtEE= l Xz 20| ofEAH| =20| =h=X| &3 H0] Sict

Y A5 24 themE ¥ EHOIME themOl2tT o, 1 EX0IM S<= peoplelt living animals&loll g2 AZSO0|
living animalso|ct.

5 il TN S XL A8 B otoll 7HE & S4HI7t 30 R0l Ao UACH= LHZO| LERLE

SHOR HI?| Z0IM= Aote= SEE01 thst 0lof7|o]Ct,

. discover &745iCt, AOHHCH(find out)

woNoe

3

People have found living animals inside holes in rocks for hundreds of years. (
» Sxft= | 8% hundreds of years 2| AlZH E31at &7 BARE XIZ7EX| OfE 20| YojLtn QICh= 2|0|E HFISICE

He put a toad into the wall of a building. (2%/ch
* put SIRHE T 2AS B= puto|ch SRH2IH puts7t EI0f0F 5122 047]2] put2 kH4o|ch

They want to know how sleeping helps them live in unusual places.
o HHAL BhEE Olst7| o tHEALS AM8sStH &t &0l & 7He| they7t LIRICE 29| they= 24 nt&IXHS0|1 F2
they[them]= F7{HE0|C}.

The Ghost War = #i%

VocabularyQuiz 1.b 2.a 3.c
REH A5 22X @

Reading Comprehension 1.@ 2.@ 3.®@

S22 oA Xiois mtAo| ClofZ(Dieppe)2l siHOZE FIIE wWRiCh D 1 =2 oA 0i2oll= 22 FHizt Uck
@ shitHollM 2! 3HRE BH 0152 ZXI2|ofl SAUCH ) 22ICh A Ul Aloll 1 6XIS2 O 31 O&sH Azjof &g ZUch @) 252
Ml AIZE S0t RRAISO| 8 BloflA Li= 2 A2|E SQUCt B 0IS2 HId7|et ZEL FoIS0| A2lE St 1 2|0l Hat HEo|
SSCh LTt = FRIS0| 1 0EE 36t JUACH
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OLMBPAE Z2AI2t O TLIAT} LIS WSS = 19515 8HOICE, Tl A= 19421 880l B2 wtc, clojmof
A= Ol =7 =2 A9} OfTILIATL T g 52 22 SX| RUCH K= 2 E2U0| WKIH 0] R L2 MY Solof AAISO|
S2 28 ol BT
OIS0| RS BT U= LU SIP7} 0152 0/0p7IS AlK| IMe} HImsH HUET| BE 20| 5HH URIUCH OfEA
O[3 20| Ui 4 USTH? O[S OFEIE ZIARIR ot Uc

FE A5 2 5 B HEolM Eelgh 4 UIR0| X7t Clo2E 2t 22 1942'H0] OfL{2F 1951H0IRACE
1. HHzE= OFF L& Q=] 0152 TH0| LojLta = ArlE S]ICh= 0loF7[0|Ct,

2. el ok2oll 77t Eick= ook = 2 TA|L BAIICE

3

. (MollM= ZoIS0| B2 shm 9lomz SSE attacking0| UL, (B)dIAE XiHS0| £2t2 =7k= AEH0|=22 confusedt
Lo} Q)0 SAIS SAIGHE RAPHERSI22 perfectlyS MoF SiCk

Strangely, it was August of 1951. (0l&sI7I=)
o 2EEAL 22l 222 It was strange that it was August of 19510|Ct £F THO{E fAlsk= Z40| OtL|z2t 22 HHIE
e
Nobody else in Dieppe heard what Dorothy and Agnes heard that night. (=2AI2t ORL|IAT E2 A)
o BAK 8Ho| ZAHHARE: what 0[ot2] HE heard2t= SAIS| SX0 Ak it

3,000 Kilometers Home ¢! 3ot &gt 2|

Vocabulary Quiz 1.return 2.sense 3. beg for

RY &5 EM @

Reading Comprehension 1. 2. he gottoo tired to travel  3.@

O] FRA01

0242 Bt (Bobbie)2H= 7ol chat AISHOIC ©F 11 M HiH|o] FOIS2 QICiofLt= £7IZA] HIHIS HRiZC) 1S
2 4 WLt &

SRS W, = ==2tn YR viH7E AR F SO0RE I FRIS2 MK giic). HH|7t Fels &
ARA7}?
30l HiHl= 2 ¥ 32| ZRACk SR 2 Fof A= Toll o 7710] 7iXl= R J2ich Hil= 22 WEeZ 71|
AIZCEL 2= HOtEY| 26 E7IE BUT, H2E ME 2= =S ARSI %Mg __TL7E8|'7| ok UF XN ofdis & 4
S| = 2{RACE HiH|= EEE0| T LS slIPA AT Z7| Lats GRACEL =00 670E 7| 3T ZZ0|EE oSt Z0i Hidl= ol
AL
HiH|= O Zoll S 4= UASTI? HME Z0USVI? HH|olA| 2520| AT AL7? ofLH SEEE ZZI0| U= 271 AR
=

Hjl= OfF Swst 24212 2hm o,

FE A5 2M HH7E 67HE0l 22X TS Roks 2ol tigh 20ITh JHE Hevds 71E0| a2 AFEX| (1 HiH|e| st
SH= MAI=IX| AT
HH[7} Eoll S0l 4~ 1| sliE SE8 520| FARUX| olo7 |8t Ao|ct,
. ‘HR ~5i0] ~g 2~ QU0 E 2l0|E LIEHHE too ~ to ~E ARSI
3. & Hmf CbollM HiE[7F 2= HofdY| flsi E7IE HRUT=E I-H%OI HZE0] AUCEL XIS HO{ Bt Tofl 2 Z2 oL H, Z710l|A
ZE AR L = 2lrt ol B0l 2 M= Uen, 671E Thofl Toll S0kt

N =

He returned hours later, to find that his owners were gone. (AR2EX|2 iIiCH
+ be gone: +SEHOIX|T BRI BFHOZ AfbX|T gick= Zolct

At first, the dog walked around in big circles. (2 ¥ J2|0{ ZIC})
* 22 Aoz U2 o WEQUCH= Lo|Ct bigo|2tn oo = HIXIZ0| 0|2 S0 48 Z120|E{of| 0|2FICH= Zo|ct,
When he got too tired to travel, he rested.
*t00 ~ to ~: LRL} ~5HA ~&F 4 giCt

Finally, six months and 3,000 kilometers later, he got home. (6712 o 12|11 3% Z=Z0|g| o)
¢ later= Al 2| 252t & £ 4 UCh



The Dream Collector = +z7t

VocabularyQuiz 1.c 2.a 3.b
REH d5 2™ @

Reading Comprehension 1.@ 2. come true (= talk about real events) 3.3

2

1
[==

>3

ORI T BS TATF? BREH IS HUT1? 0] Bo| AR ABEIR
Ol BS M TN} Lk OLIM TS B0 It BS TH 0| o B2k Mol LS BS HolM =80 U= 2HE
2 (Robert Nelson)oliAl £Lii2f, T SHAI0] 0[2hE & 4 Q=X| 2Ok S ZHO[ct,

A = ARISO| Bojl OFF B2 BHAIS Zm It T el HEet RS 20| MG 2L 1 O AISe| B2
Ol2t H=ot 7|Met HImSIC OIEIX = 83 7t Hie B 0[0p|S WUTE 0] 5 487H= ALK| AfZI0| CHSt 00FIZ H= 2
LTk 3k I OfA Ol OFF SHR AIRISS FOICL W M OIS0 S 0SS B CHA ¥o| BS 1w 0| BS0
Ll

s,

=
jind

I'

o

FE A5 2 B0| MoEEX| L1 oM ARSe But wA BEE H|woh=s ATE S QAT

1. B0| Heil=XIE ¢7| 26 BS Tt 7ML Hlwdk= d& MO & S51E CHRL Tt 0]2HE oi&shs g#s tRn
UX|E= 940 BO| E2 HE CHR= A= OlLC 0| A= Olf7H URX|= i1 55 HModtult x| s oKX= =rt

2, &2 MW et BES BEH 8T JIVF B & Jh20 48707t EHM| ARAS Ojof/ (st O o[ Zf CHA T2l &5 RE O
ZO| HSERACI D Lot QT [2tA A ARIS 0[0p7[s7Lt Meisl= BE F= AR 71| gl= HoICh BAIHEAL that ol

U= dreams?} BIZHO| 010|122 HIZH0f 0]0] 3= SAS 20 2iedotH Eioh

3. (A0lE seem CHSO| SSAL 207t ZQSI2Z real0| LTt (B)oll= “BHIO| AUCH= ESIOZ be interested in0| =|0{0F Sict,
(Qoll= ol by7t Y222 BHEAL surprised 7t Rt

The next time you have such a dream, try this. (Ct& #oll=)

* ZIX|ALC| M2k timeOil= B2 TXIAL atS MX[2t nextet 20| XM theE 20|11 TXIAE H2FSICt the next time when you
have such a dream0ilX{ when& “42Fst Zi0|Ct,

He can check to see if you are able to see the future. (&4/0| O2HE &

o if 22X ife RN} Q20| MOICt 047]9] if B2 seel| X0 HElS

— =22
ZolCt.

(]

l=X| OFIX])

f= Q2E=2, AM GRS 27| flall Efleitt=

3

ol

So far, he has received over 8,000 dream stories. (XI27tX| 2o} 2T}
+ so fare| 8H: THOAEE SRN7EX] OfE o[ TS| JISS LIEHHEZ SHIHRAZ AIKIRp SI7A| #2001,

1. exciting 2. confused 3. disappointed 4. interested 5.boring 6. surprised

1.survive 2.toad 3.war 4.match 5.2338H6lEF 6. =7 7.AHm 8.F21 9. 10.(®

11.@ 12.@ 13.3 14.stranger 15.event 16.gas station 17.soldier 18.Accordingto
19. wake up  20. write down

e Had | 17



18

714 (Health)

The Mock Funeral =2 =4

Vocabulary Quiz 1.place 2.mock 3.trend
osH A gy (D

3= O.

Reading Comprehension 1.3 2.@ 3.®

‘R H QIS BRI O L2 AfRio] EIZ0I. Of O MBS glojel 81 YU ofolo] At LIR ARt o= LiopiA
2UBiC T4 KAIO| A0lA ENS CHIRI QRITHS S 2 Ik Iuf= AfAlo] 20| A 5101 0123 Ut

_ BIS01A Do) S| A0l RUST Sict. 50t B Fmel ARIS0| @O] FENS STk 20| FEME B 57| 2S0l2tn

SECL 29| HaAollM ARS2 AHilel =301l Choll 2Bttt S0IEHI= 0142 =222 sl AFRISE2 AMQ| &= Olslotr| =,

Xbtlo] Aol BT ot Lptel HE 2 4 o 2l
T ARISS 2| A Foj| RS BN 0ISS A Ho| 3o

gl A BSsict, Do| Al ot 1S UL
A4} O10l| SO7E U Tk 710N 1557 HEECH IS Hofl theh M2 4218 5

FHA Li2C

FEH 5 22X MK BoR Lo HX| MK} Qtofl S07F UK
1. & 57| 289 Yo 2 MA|El= Bo| HejlAls AThsta Uk
2. KMo A2 o T HIMGI| Qs AlAISH= Zdo|C},

3 EISAIO|EE ZX0] wills7t US = SSENE LCF writeZt ST

o

Zo|ct

She knows that she hasn’t been doing her best in life. (Z[42 CISEX| 24UTH
» SRHA=TIRE: have been doing2| FEHO|H THASE] SAXWVIX| Al Tl 501 LS LIEHS mf 22t

Itis called the well-dying movement. (~2tz 22|Ch
+ They call it the well-dying movementE SEIZ HHE AOICH by CI20l 2= &eXt= 20| HE! BRIt 8lg BE
US| L} SR A0| TO{E! Z0] AdZESICH

During the mock funeral, they are placed in a wooden box. (I5& LIF &X} ¢toll S0{7 | ECh)
+ They placed them in a wooden boxE +SEZ HREE Z0|CE 0:17IA1 F0l= WAE FZIeH ARZISOIH MIAISEX] 0t & =~
U= BROM F0{7F M2F=|ALC

[50)

Married Men Live Longer z£5tz 22 At

Vocabulary Quiz 1.a 2.c¢ 3.b
FEEAS 2 @

Reading Comprehension 1.Z=8 240 Z=56HK| &2 a2t @af & 7lsMol=Ct. 2.  3.®

o

5

T Ol 48M12] HXI7t ACL =2 SFAl= 211 = T Hgoittn W2ttt OS2 HllE TIRX|= IHASHK|E =0t B A2
7|20|11 CHE ARZ2 OfLICh J-OHA 71 o 22 &7f?

S0l =M 712Xt oot o 22 4 0ICt. 0|E HXk= 65M7IX| A 7H540] 60MMEO|CE. BHH 7|& HAk= 65M7IK| &
7t5-80| 90mHMEOQ|CE 7| EAh= Lot 0|22l TSR O 22 & 71540] 250TIEO|Tt,

elf 21?7 M 7|12 XAt o2 AlZ[oll A XIHE 2E o QU 0] X[H0| A= AR} "'t”% HEE o === ZCh Hol
Za|H O ¥a| 3I=SI0h SM= IS HERoz o =St 712 "Rl 40MMET X7 | 40l 0 l=sH she i
XIS ZR0ll= THX| 25MMER T2isict, a2iLt ZE0| (deolAI= £Z0] =20| Enf?

T A5 24l Z20| F0ll =20| Eohs FFHOICHL A=0|LE AEMARCHE F40f ZHE ST UACL

— o [ =]
. this= HIZ 9f T2l M S73 AV 2oF= AHS 712110k

= o



2. 0JoiAl= BE0| Y0l =Z0| El=X| AHEA

3. M B ERI0IA Z20| Zigit ASH|AS W FCiD Yok

= Zolct,

First, married men can get emotional support in times of difficulty. (0{242 Al7[of)
+ of + HAL = EAL of difficulty= difficultel 20j0|L] in difficult times2k= 2|ofo|Ct,

When they do get sick, they recover faster. (32 Hofl Z2|c})
* 4Zx9| do: SAL Yol doE MM SAIE Z=SICH

o

Take a Deep Breath ©z=& shi2!

Vocabulary Quiz 1.improve 2.abdomen 3. feel more stressed
Y o5 =M @
Reading Comprehension 1.@ 2. 3.

ZUS FhAE 4 Qe TP 412 WIS SRUIN SESIE WHS HIRE & )

CHREO| ARIS SE0| CHolAE AZIZEAL 51X| QECH 21t P2ls HEIN 582 ZHE 4 It HIREo| ARISE Jigoz
O 22 4XIBt I 1T 2HIE UCL O B &2 BEF MAS JIHRX| RSICL SOl AAT} MO OflLIXIE Cf X
DHEO{ZICE OS2 K5t o W2 AEAZ LYICE

SHX|2H O LI2 20| QIch 22 &2 MM &2 O 2T o a{ZIch O[2A 5t o B2 AMAZ So(0tA|A| Elct. o] o)l o
B2 oHXIE 2| =0 o A 2IEE £ 4 QU 2 AOICt 0|2 SZHE JHele| TR 7420l ECt

L] CR20l AIRE 2 = S22 &2 27 #l0f 27| HiZith o 20| E2l= A2 L2 ZAoln, ARE o &2 2 £
oltg2 ¥ H &2 70| ¢l He2x 2 x0|Z2 2EN & &~ UL
FEY A5 24 XI0|E PHE0] k= A2 HaPL M7ICk= A, AR €20 S22k 22t U 72k ol
1. kol BS S5 Chhlo] 27 2ASES Y uel WHS 4sin o,

2. HIZ &2 $|H 210 MHF| 22 471 FCtn o2 JRS02 &2 4071 =M J0f HisH 2| &2 471 2 Zo|ct,
3. (A)0l= SH0IE L= St EFSAPL ZR6tE2 improveZt YLt (B)dl= ARO| Sk= Z0] thisO|22 thisE F0{= MAH

SSEf 280l =25t is doneo| MESICE (Q)UIE Al ARRHO| AAS S0|0I22 oxygenO| 017} =X S~EEi 230i| =St

is takenO| &glsict

Well, you could change the way you breathe. (E&st=
+ the way in which you breathe0llA] in which7} M2tz Z4o=2 “~5l= HHH"0[2l=
L

They also feel more stressed. (6 2 AEHAZ L7IC})
+ feel2| HOZ -ing?t 2tH2AL B0l Y= g 12E W

stressed”t Eo|ct.

More oxygen is taken in this way. (0171l =ICh)
* SATO| 5 5522 5tH They take in oxygenOlCt (Theye= 2HEx01). take in2
EHC,

More oxygen is taken in this way. (0|21 422, 02| 5tH)

=o|ct,

5t

: Z=0{ C}S0ll beZ 'Z0{ELt. they are stressed 7t XtHAZRH feel

goi2|2 HOot oxygenth Y=

o SARROINM TXIArC] A2k 22l way= TIXIAL inzt 20| MX[2H(in this way), this, that, last, next S1t Z0| AH MXAME

BT
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Computer Games z#E 7elel 2

VocabularyQuiz 1.a 2.b 3.c

Y o5 2 @

Reading Comprehension 1. (@), ZFE Aol &S LIt U= AP | FES UozIrtn ooz 29| 550 UX|
it 2.2 3.
UL OfZI0IE2 HRE AYS LT 2Ol 5k, "UFE ALY 55'Y 4= QUCk SHXITH ZE 0f210|150] 01 ZFH HIUS St=

A2 OfLIC AMY, ISIXIER2 BVt E0I22 WS 2 *71I E|°*Ef ’*#E1 AYS siHE 25|24 H 71X| S== UCk= Zo|ck

AFREH Y2 020I5, SolLt MuS0iA HMHe2 =85 & 4 U oIS 201, AFRE AYS st o2lo|E2 dFlds
2wyt Bt ol AR %8 ?:!% Sh= OZI0|S0| S=E "é*é‘,'%* = U OH—-Ef (@ SHXIZt ojolS0| AHFE HUS HF Hol
SIH F8= =7 Ell‘—f Hj2 o1 AU AHUS sh= oloIS0| LIStHZ MEtgs & 4~ QU SHiECE B 0122 AIYE sh=

OIS0 AHRECt= % —’.E @ Dixaiez g2 #HRE AIJ2 opolS0| M2 gih= ol =88 ECt (B 1 ojolS0] Mz
FTE A= o 5%9 Epat= s
Aol Z2 Ho| 2 71| UX|Z 010|S0] S AHIYS sliM= 2t Elot SRl &= AlZt Ol AlYME Sh= A2 S=0|ot. S=E

OS2 B HEMO| 2HIE 2iLL Of L2 Sl MRS ert

T U5 2 HRE Yol FEH0| AL Z shi= X2 F At 01 Sl= A2 S=0|22 015 R4kt Sict

1. =

2. 5 i SRl HRE AlY2 S5 XRECE BES 2 siFEH ME2 TTE AR o QU siFE FEO0| ot Sict

3. in facte 22| AHOIM O LIOPh= LIES MAIZ mf 220 &, S=2 X2 2= 00|S0] 23 A2 OtH Lot LIS
Y= th= AeZ 20| TUH=7| whiZofl £ Zdolch,

These games let them reach goals. (250]| 2457 SHELCH
o AHSAE “AlZICH= 2|0|S 2H=0), (let, have, make + 2X0] + SHEO(SAIRI))O| HEHZ 20},

Finally, many computer games help kids meet each other. (0l0|£0] PHLt= Ol =22 FCH)
¢ help: 552 EAECH= Z0IX[EH help HA| AIFSAIRZ £C,

Kids who are addicted often have behavioral problems and get lower grades in school. (B 'Z2 &%)
» ZFE 7YS ot= ofo|St 5HX| 4= Ol0ISE H|wEH 20|22 H|wZE AUk

The Death of Mr. Buchwald #H=Z= nel =2

Vocabulary Quiz 1. humorous 2.illness 3. kind
R A5 28 @

Reading Comprehension 1.5 2. his sense of humor 3.3

SAI0| F10 LIH ARIES SIS OEH| 7|E71? AFS0| GAI0| {EA| MU=XIE 7IAEI? OFL|H 40| ofEH FA=XI
7|4Ef? ol RESH 270l ofE HAE=(Art Buchwald)= 0] & 71X 252 7|HECt
HIEE M= RH7E Exl= at M2 J|AE At HEPE J= o1ZA sE3cE “S= 7 219, SHXIT FXh= ozl a7t
UstH= A2 AolAls 22 LE0| 0f2i2 4= UCHE ZLolct
oIz, I XIAle| oMol oix[at H =F2 &X| IUCE J= OfF At Holl Zict JZolls 76t J= AlSsiA 22 40
=2 3ot HIs= AX|0] 19| Q1Mo thSt HIC|2= SHSRICE O] HIC|R0IM 2= 0|2 A LIUCE ‘L= CHE ARES 27 5P|
O] Miadoll @A EIACt” ARISES 17t 0FF ZIEGHD ZHO|URU7| 20l 2= AR MOMLE SOALE 2= &l5| Q212
A HED, 0t 5 LES A4 Mot Zolct

THE U5 2N A tJé'Oil RS0 S5l ROt HE AHS ARRIC D ooz TJ3H0l|= =761l 2k= 2|02 Stillo| ofS2ICt
1



2. T MOPALE ZOIMLE Sofct S0 Zzoz S2I2 B2 siE Alte= J(efsictn Jt,
3. write= Sloi 2x{oi7} 2o SE0= Mo} B, wrote HHROF BiCt,

Or will they remember the way you died? (({E| Z410| ZA=XI)
+ the way2t how, the way in which= Z-2 Z0|Ct the way in which= & A0|X| 211, the way2t hows= 29Ho]| k2t “H{E |
~Sh=X]" 2 “~oh= W2 SHAMSITY,
I was put on Earth to make other people laugh. (XI720l 27| =RUCH
* BE 2 0|RE X2 MMl EHolLE= AlZF2 Sl Alo|Lt 7[EF ZXHoil 2JsH Ml&foll EfO{LEZ| THEO0]Ct

In life and in death, he definitely made us laugh. (= &45| 2212 R SHEUCH
* AIHSAL “~5H| BHECHE 2|02 makes make + SX0f + SXHO|(SAHE)) Q| S 204,

1. built — was built 2. created a famous artist — created by a famous artist 3. cancelling — cancelled
4.ate 5.spoken 6.watched

1. movement 2. possibility 3.emotionally 4.trend 5.7HM=ICH 6. RAIS Foict 7. XIXK[SHEH 8. At
9.3 10.@ 11.@®» 12.® 13.@ 14.freedom 15.well-being 16.mock 17.breath
18.domy best 19. On the otherhand 20. live on

XIA (Nature)

Invasive Species 2=

VocabularyQuiz 1.b 2.c 3.a
REd A5 28 @

Reading Comprehension 1.@ 2.3 3.0

Bt 20| SiRI0IE W=t AH7|M 2ol 2 HE Hofdlch O= FHOIE Hez J7H7F E=2a Tl Ak EHLIoIA =XC
SU= FHOIE 7|1 0IR7t §loiM, 2YOIE 0rZ0l HRFACE SHX|2H 0= M7IE 'Rt 7 35: 2F 2iA 28 of2|e] 2ot
U =RACE EHYOIS2 T Holl A= ASSS ZefoliA 50071X12] AES HACL o] ME2 72| 20| mzoll E=2|ctol| U=
ChREel AlESTt 2SS SX7F A7 7] =IUCE

AIE0|L S20| FM o= 0|FSHA =T 0152 EYS0| =t 0
LIEFICE OIS S8, ORSE2 20|ut Aol 20 742 + Ut T2
7124l oF 10MHET X|Ho| AZ0[Lt SS0iA EXIE Y2710t

[y

Olok[e] ZmOl= FRUFOICt U HUFL 0J4Ft a0
2SS B0 o 1 X[ FH 4 ULt OIS I

S o5 2 2Ho|E o2 50 FUB02k=
ATHE A= ofLCt
. anyE Q220 BHIM T2 ALE5IH SER20IAME everyoneQ| Qojo|ct 2E ZIQIE0| O|AlSH BAIOZ LIEH H= 2
OF|=2 someO| XIHAECY,

0=

o

EX

A ZHME A5k QAT SOl XH|7E FHI2! X2 ofL|n mEh A7t

-

2. FHUE 7I= 4240] 9i7] UXIZH YOIt SHE 7IE 4 UCHD YZRUCHH O HE2|T 22US Z0IC F2 Z01H M7IE U=
2| gl 0= 2E0IME & MSC shE 71T A2 F2 AS0IUCH LsHMS & 4= Sirt.
3. o 10mMIEL| EUS0| BHIE Yo7ittn FeaZ nE FIZ0| EHIE Y2 7k= W2 ofct

02
o
sk

s

21



22

L
=

When plants and animals move into foreign lands, they become invasive species. (212}&0] EC
* AS0|LE SE0| FUB0| El= 2FES o2 M FUS| FOIE Lz ok

For example, they can be carried on clothes and shoes. (~0l 20 £74& 4= UCh
* 2SEHQ| ojo|4 F0{: by7t OtLI2t ong 222 clothes®t shoes?t F0i= OfL|C RO|Lt Al =ESH AR0| 25
2= 2o|ct
About ten percent of these invasive species cause problems for local plants and animals. (2xIE 227}
e US TI27l= Ze| 4 ten percentME L2 72|17 = H0| FOY M= of OOl L= HALR| 8 MEL theseZt
E40|22 3 10HNERE =42 FE0I0 causes?t Ot} causeE L.

The Elephant Heroes g2 78t 72|

Vocabulary Quiz 1.escape 2.stand back 3. free

Y o5 Ed @

Reading Comprehension 1.@ 2.3 . 220 7IE IUSS AVEIE0| E0IE

0|42 et Z=20l| thet &3io|ct. o7 |0l M= FUYS0| Z20|1 F7[RIE=2 FS0IUC
HolZ2|7t Se=F0M FE AS0| B2 Y= TotM 2|0 ZIFIct 2 Holl &t
@ o522 Y 2| FHg SolciEct. @) MHES M2 FyEIS0| SAlg ffictn

=

ofzle] FAyjalSo| HOE SOt
Azisict 3 o & 227t 22
0l2sl 22 HACE @ FUS0| R2(0fM EUHCEL B thE F7jEl= CHE FyRIST 8 F2 22U X[FEQACE OfX|2 0|
ARIXIXF Z712|1EE MGt

AZEL 02 s2ich 2SS of I2IS0| 2 XS FMeX| Ol 4 YACH YKoz E2ES MES ZE01FX| b=Ct
0|52 iR S TW|2|S0|AUCt. OOl 0|52 UYL OFM0IA| A0loF BTt AiZISH ZQIX|= BEC} 6128 S0k 0]50|
otz a|71e| H20|UCt.

2}:
14
e

I
£
kU

THE S 2 7|21S0] Y2 HES =M FU0| =UE 4 UL

1. I7RIE2 Y ol 22|12 22 EUCL HE S M= 2 S0iBHEXlE € + Slel AlRS ZO0PIK|= 4UCH
SAE Tl et A= OfLUCt

2. MAZO0IM CHEES LIEHH= Howevers X1 F7|2|S2] AlElE HERCEZ SAS FolH= AI=l0] oll2t SUE 20 Fai=

3. that2 72|17} o #S0|0 2= Qs AFZHS0| OFF S=RTH Lot QT

During the night, eleven elephants came into the camp. (& &)
* 20| XIAE 2tz 2 4= U= BAjoll theS Mo 2 T vl Zio|ct,

They probably thought the antelopes should live in the wild. (OF:0ilA{ AtotoF SHCH
+ should= “~5H{0} BHC}"= 2l0|H FES LIEHACEH A wildoll theE 201H HAPL £I0f 0Pl MAIE 712|ZICt,

Life as a Penguin @#o] =lof 2ict= 2

VocabularyQuiz 1.b 2.a 3.c
REH g5 22X @

Reading Comprehension 1.6 2.@ 3.0

M

o= A= A2 EX| fint W2 tHREEL MEXME 2 = SiCh 2 2L s >Het Zich 22 0 A7IE €3 Ho|
T2 | flell OFF H H2IE OfUSITH A O HAS2 0f'A OfZIE|LIOIAN Eba7iX| 3T 28 Z20[EIE G K&list |= it

O] G{&2 0421 7X| O|RZ EX| 2iCt R4 ojmtz 2 ol M 71S0] AHOf Liet HHS OH OfZA| & 4~ UCh SM=Z ARS0| 1T
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B2 1712 Hopk RO S25t 2017 9ICt. ORISR ofio] 20| B0 BE 4 AT B WRI0| IS0 H FeC,
] RIHOlA BFO| 47+ 20TMELL BUCH E5t AITRLBHE WRIo| AMAXIZ F0|1 Uct
TSIXIS2 50 Lol S0l ks B AAIXI] QOHMIET} ARk Ozt M2IBIC BROR A= 242 BISTH

FEE IS 2Al A= US XF2LEIE QIS MAIX] Ih| 2of= 0|0] HES| XXIE £0l= #RICE JI§ REI Ho|9| LA,
o9 =2 215t W7t HF=RUCH

1. "ZO0| XMet O{HSSS Ligst Ch

2. /2 A2 YWHO|ZE many= many penguinsE 712|7|H 2=20f| 22 Z= A0|22 them fishermen’s netsO|Ct.

. another Ct20lli= TH~E MO BiCE some22 1O ST

w

It’s not easy being a penguin. (B0] Ect= 22)
* SHAE IStz 301 it: 2|0|4 =0{= being a penguinO|LCt,

Second, people catch too many fish, so the penguins don’t have enough food. (Z2#A1)
+ At LIEHH= so &2 so that: so 40| 2, F7}+ Zto|ct.

In some areas, the penguin population has decreased by twenty percent. (20%7}x])
* X0IE LIEHHE by: E0EU= x10|7} 20MIER} = ZolCt,

CO; and Poison lvy ol:tststset gzl

Vocabulary Quiz 1.getworse 2.plant 3. give off

Ry o5 2d @

Reading Comprehension 1.5 2. @), OlttsiEtA SItot HE2UIFO| W7 Al0|9| ZAIS Uotz= MSIXISS| HElS
MHGH= 20U, 67 |A] O|ASIELA 7L 241 ThARKE AMMR 7L QIEE. 3.(3)

oftH A= 2 UM ARS2| TR0 F2 20| 4711 718A| ==rt? S22 HRat ske Al=Z0|c
SASIAIE, 0 A2 ZIESHIAM HE 20| O 2Al= o 23 Ad|, 1 olf= 227 O ¥e| X2t o ESsiE
Z10]7| miZO0|Ct. 0|2 OM=IEA, = CO, HZO0ICE AlE2 X2t7] flsll CO,E ASSH=r, ARS0| MEtnt MRE HAAF|H ST
&9°| CO, &0| B7IICt
WeIRE2 371 S0l CO,7tH HF H2™ 0] AZ0lH| F& L0| Lo{X| L1 AU f @ SRS T MAofl mHo|ZE MX|FICE
2 Y= ooz AMAS HIERCL B Ef% WE2 CO,BH HiESFICE @ CO,= 24 7tA9| 3t ZRO0ICE (B 7o &t #2ez
ISIXIS2 mo|= 0| ASS #ESI0, CO, To|= 22Xl E22LRItH 31 IZ‘I EESIChE A2 YA, SIXIS0| Chgez
g H7l= off CO,7t 0l AMe2 220 FEke F=X| Eaish=s Aol

|—_|
IZI

JE A5 2Ml YERUFE OlMSIEAT e H == 0| of2t o & X2t EE5

o
aT
1. MXt= G22LIT OIS Sall O[MSIHAS HAAF0F Sh= HRYE Tt AUCL
2
3

i
>
i}
!
3%
il

CH
=
. 5 S H2oA MEtnt MRol AAS Sl O[MeIEATE ST JCt

What plant gives people red spots on their skin? (0 AEZ 2I5HA] ARRE2] TS0 8 FEO| A7 17| =l=71?)
e EFTE O AS0| ARIA BFEE FE71772I0 26 O{AISICE ARE 0= RARICR siiMSk= 20| AIAALE

[

The next step for scientists is to discover why CO, affects poison ivy this way. (&745k= Zd0IChH
+ HO{Z AFZE to £AL step2| LIEO| HEZ to discoverst= A0|Ch
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Cows and Trees Make Greenhouse Gases 2%7tA F#Ho| Aot Ligata?

VocabularyQuiz 1.c 2.b 3.a
R A5 22X @

Reading Comprehension 1.3 2.3 3. (A) some; (B) some; (C) any

A9} LiSo| ZEFS DU S Cf HIEO[RIT sl 7HAS THS0] WESICH CS0| S Cf XIT2USIE Yorle o Uxsit,
FYsIXIS0] a2, HErS XIeLtstel ﬁs_% 0| L

HIERS o] 9f Zof U uiel2lofoll o Lk o] HERS A7t YIS RLt ERS 510 Of7| o2 Sofzit A
5t 027t oh 1022240 et TpAS %%%_:r. H AZlel BE A7} U FT ES SITA 0fE SR E7iX| HErS
ZItAIZICH

MBS AP OIETIA 7120 USRS MABICE AIZS 0ji 191 5HBF £ 0]A0| HIES BHSOJUICE X2 AR0| th|
& oiEtel 205HISE MABICIE 212 olojgich TSSE Moigls MBS WS eISx eeckn M, SiXle EEE

= S
TSRS Aofl ABO| U2 HIEIS BHS0| LD S MBS olahAiz Hol2ts 242 Yopdic,

Y A5 Al Ml Bl Bl AISS0| 7| & HIEe| 20%S MMSICH T Agstn ez 5322| 12 Hiksh= Zi0]Ck
2HSO0jLi= 24714 g Chsl 0joF7 ot Ut LEFet HiEte] 2

=

1. METH AT TS

2. ATHEet ERIS OF & o Gl 20|22 AV} HIERS THE0] E S800] gichs 22 Yot

3. (Aolz ZE HE2|0tECH= Y2 (some) BHEIZ[0F ‘“Er (B)oll= AlE20| TR MAksh= 242 OH2EZE 2= (some)7t XL
(Ooll= &5 BHEX| h=lh= 2E28 U = anyS 2.k

In addition, they both help cause globalwarming (Ye7li= ol Y=SHh

* help CIS0il SX0{7} q0{0F SHX|2F SHX| 0t & 4~ 7L 20| LE HR7I} QIS M= MBI,

And that sunlight only makes it worse. (M&S 2I5tAIZICH)
« ite] 88! it FAHEQ! hAS XIZSHX| 41 Mebdol Alsts 7ta|Z e #rt

1. other—others 2.some—any 3.other—others 4.Some 5.any 6. others

1.net 2.local 3.snail 4.global 5.72 6.(E22) 2 7.8t 8.z=20 9.3 10.3
11.@ 12.@ 13.plants 14.stomach 15.foreign 16.stand back 17.fisherman
18.add upto 19. give birth 20. go down

2t 28| (Environmental Issues)

The Speed of Global Warming xi72ztel =

Vocabulary Quiz 1.global 2.flood 3. pattern
SEd A5 28 O

Reading Comprehension 1.3 2.® 3. (A) know; (B) happening; (C) to change



TE222,(The Day After Tomorrow)2t= FstollM= X720l “HhZE"(superstorm)0| KO{HCE O] GsloliM= X250t
2X|gtol ohA”o| =A| ol¢, B& E == X2 20| XI72Q| HICHE BZICt 0|Zd0] MAIE eSSk RXINZ =E M| THES
HHRO| ==Lt O 21t MAlE OFF B2 £=2 oFF FRIZICH ZAP| FRIZE2 150| Yoty (ol USS Ui 227t 1 UH
42 20| HCH 23| 02 o] MY Lojd 4 JUS71? e 2F7|= 5l OfL|7|= 5ict,

25 HePZL M2 M HES TS0 @ 4 QUCHE A2 Ao} 227t 3% 227t= He=2E 03 US Yo 4~ Qi) o
o[ ofttH SH2oll= 74201 =0] LHE|X| 42 Zolct,

ESHo|2{st Het S&0| el YoHTHH B iy 20| 47 Zo|ct X2 AX| MMuME Ha FStollA a3 ZAxH
ua| UOJLIX| =Lt XIF2Ush= OFF HASE| Yottt 2=t #Halsta{H H0| Z2|1 0|02 E2|RE gst Alo| /i 2822
do7|7lolli= WS L2l £50|ck

FEY o5 2 ISl XI2HSE QI SX|8e| 2S0| ==CtH o 20| Yo{LX| Olop7 st ULt

1. Zalollils SMZE FAXIHA Wotr 7t cta AZSIACE

2. M i 2ol ARIZ AHEZS0| Lol 7sd2 Qirt HSRCE

3. (A= MEE LIEtLE SAE B Tidds MX| 2o know?t YTt (B)MlE happen AISAO|2Z S~SEi7t 2715617
{201l happeningOItt. (O)0lli= to FHALS thilel= it -0I22 to change”t AglsiCt.

Life as we know it ends! (R27} €11 U= thH2)
» 2|7} 21 U= 29| life2h= 2Iojo|ct ol it2 lifeE 7k2IZICt
Also, if the changes happened fast enough, many large storms would form.
o 78 144: SIRLE Of2Holl CHS! HISHAZR! 7hEol M if Zoll= 2ASAL FE0ll= would 52| ZSALS| THHES ARSSHT

However, in the real world, changes aren’t happening as fast as they do in the movie. (~2t2 #z))
*as + SBA/ERAL + as: 22 S st X MAIZ L Hleich S 222 changes happened in the moviedllA
HHEE= FOIE BALR, HE Rz SAIE ISAR! doZ HRE A0|Ch

WALL-E 2-£

VocabularyQuiz 1.a 2.b 3.c
REH AL 28 @

Reading Comprehension 1.6 2.@ 3.®

MAZE 227|2 715 x| ElCtr Jefoll 22t AFRS2 O 014 X|IF20flA & 4= QA EICh 02 0] LojHTiH AS2 0|2
27 FE-E2hs TEESIoIM AS2 SFHI-bAIZH EI0] RF2 ZICH Hi2izAr] 021 20| HZ F LoiLIX| H7IE.

Fe-Ei= ol THEES SOk Sh=XIE BEHEC 1 FsloiMds ZE Maf|7| R0 AS2 Xiefa Horzh £7t gict. D AIRE2
2-E2f= 0|52 2R tED SFMe= F7ZICE () 0| 2RE0| MIAIS FAE Aotk 3 Jaiut 74 & F 2E 2-E 2RE0|
=1 shig gert @ = viRge] 2iolct B ols O ASS SiLE LSiCE ARIS0| OfX| X0 AIZS CHAl 718 5
UASO0| BHSICH O= ARMSSE T XIF2 M0 AIMS2 EC0] MEEsh=s BE HI2CH SHXIZE XIZ0[2t= ARS0| MES
SICHH OFFR L 23 XIF1E e BRI} gl & Zo|ct,

T A5 24| 0IS2 2R0| OfL[2t 2| SFHIJAIASH, OIS0 HIFEIE EU=Al= & 4= SiC) ASS MZ L2t 22 2ot
27| 2ol 2 217 |ofl il XFE 20| F5IA| =1 AFE2 MEEQ| ERYS ME Elcks 3l
Z2R0| HiFHa|2t Tiak= AR2 ARS0| 12EL| EeES IEE=LE 0/0F7(2] Flek= BAIGIT

|

X
—
. A0 XHLZ E[E0k2 AR KRV AIEE 712 o UE R, WEkM AR0| AFE 4= U= 0| =TT 2187 | mh=20|ct,

woN o= Ao
i

If this happened, where would people go?
o 788t R if Zoll SAKS] TAYE A1 FH0| wouldE XM H[SAZRI 7hES J12]7Ict FstollM oft ol Ax|
Aol 7ks40] M2 Uol=2 7hgHs Ak
Hopefully, this will never really happen. (HI2+zZ4CH)
* 2EEAL Itis hoped that ~2| 2|0|2 &Lt &, that 0[5t2] 20| YOLIX| 97| HIZtCk= 2|ojo]ct.
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But if people recycle now, no one will ever have to leave the planet.
o 7FgHnt ZAR: if Hoil SALS| xRS M0 FH| 02 AKISE AH 7401 M2t Lo 4= U= LS 7127

Il

Polar Bears and Polar Caps === iz

Vocabulary Quiz 1.favorite 2. otherwise 3. climate
REH A5 22X @

Reading Comprehension 1.3 2. is gettingwarmer 3.@®

SIS M7IS0| MRS At QAT S2A|=, OS0] 718 2015k Atd ZA21 7{chet W0l e £= =1 QUrf J2iM
ST M7IE2 0t 22 Zith X2 of7oll= EA7t Ut Holl= AlZfo| BX| X2 J2i= 0|2 HEE WS [Uot
St O] $2oH 0|S2 HiChol| A == Zo|ct,

A0l U= E B OR(2 E=S55 HIXE ZHIE 2 Ut I 52 A2 L2 ol 25 A0 7K T2 H2Z SN 1ok
SICt SIX|2F ORO| HItE7 217t S5 SAETh S2 XX 32 J=Ch

1 30| H= A2 S3XY0| wEEsiX|w 7| WZoIct. 0] 0lok7[E2 3t "XIL(Earth)oll LI2CE 0] S3h= O{EA| HAXl=
7|21 MA SES0IA A2tet LlshE F=X| 20ECE SHX|2Hol2{et M HEZ Qlsl] IIsHE = X2 SSTH2 ofLch

ol

R G5 2 SBEOONLIztT O
1. 715 $8k2 ol SBS0| 241 U THS
3 ¢ BT M "B ~s Sic e © |u|

r

+
3. trap2 X0V ASH HE ==Ch= 2Jojo|ct SX07

S

coR ZF 2|9 QIZHo|Lt AlZ0l|A YojLt= LISHE CHEEAl & Z0|C
2o =

E
£
0|I

FoHA EACk= 2lo|= +~SS Mot SiT

Their favorite hunting places, which are large ice sheets, are rapidly melting. (Achst &&)
* S2: F0Z! places?| O{CI2IX| HHS ESotH X0l HES 22Cf,

He dies, tired and hungry. (XIX| ZF2! Ael7} £[0])
« 2lH7} /202 tired and hungry'= Z0i21 Zo| AlEfS HE Maists EARREO[C)

However, it is not only animals that are hurt by these changes in weather. (ZISHE °': 22 S=Tf0| ofLch
+ not only= “~#2t OlL[2}"2k= 20|22 S& 2|2| F==7lIAIE shE &Ch= 0| FFE UK

Erin Brockovich ozl 223H|3|

VocabularyQuiz 1.b 2.c 3.a
REH ASZ 22X @

Reading Comprehension 1. (A) problem; (B) truth 2.@ 3.®

2= 7|”S0| XFHETt ofLl2t RE7K] S0 LEAIZICH o AR0ll= O 2XMIE 210 oF Elctn Zsk= Algho| QcH a7
ofl2l 223H|X|(Erin Brockovich)2l 0[0f7]0]Ct.,
@ O] AtHS UiY 7tA QIAL‘EF 20| AAUCH @ IHE 0 FAL AeE QEAIZ|T QUCHE HE &AL Q) 3AE

mjo|Z2llg Saff MVIAS SEFICE @ SHXIEH 0] ZAl= mol=of 2 %EH?J SIEIEEE AE3T 0] SISIEES0| 2X2
ARz SOAUCL 0|E1 setEZ %% X0 Al=0l|7EK] SOZULE. S|AR= O]of I
UAAX |2 A S0l7I= S0 2FHsiTt 2T

OIZ2 2|At 1"'”*% st Atk Zd% LA EXE SAtRE MRICE U= -EZI7F oL, SHXIZE J2he = BHoiAM
S|Atet g HAS R o2 MB0IUXIZ 247t FIES flsh MR UAAT |0l S2IFHCE

_,_
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FYY A5 Ml @ O30l the caseZt SHSHCE ZX7| S&8t 0] case= HIZ HMAIZ0IA Ol2I0] S0 AT AL AfTS YSICE
HIAIZ0] o] 2ol MY A 2fofl Lok Bt
. BlAL 20 Lol 2MIE B TMs LN MBS JHMEEY| flsi =M= 20| FX[0|Tt make it better2t o &2
MigE BhErhs oot

. poison =& ‘2t 2&A|7|CHpollute)
3. & Hmj B0 1 SIAkE 20| Qo HARYS

N

N

<l

Ol A3

The case was related to a big gas company. (~2 2tA7t UACH
+ be related to: ~30|X|2+ SZf2| 50| OO ZHZ0{Z OlsHstH EICt

These chemicals even got into people’s drinking water. (&1
¢ {-ing + ARt “~0il M0|="0[2k= 2J0|Z M0|H 0|mie] -ing= SIXHEALTL OtL|2t SHAIO|CE S0| O QU= Z2 OtL|L|77t
Obd mf M= S0|2k= Zo|ch

)

Still, she took the responsibility to meet them in court. (HZ0ilA
HE o|0|E ZH=Cth MM Bhiiks W2 ASE 2lsH Pt

o BALO] 2AD} QIO FRIEIQI FAT} oLt 1 7S e 2lo
olojolct. =, HtioilA| A&S ZAUCH=E Zo|ct.

Disney Saves the World &z== =it ci=L|

Vocabulary Quiz 1. destroy 2. protect 3. therefore
RY A5 28 @

Reading Comprehension 1.@ 2.@ 3.®

=& U2 AIRMSO0| CI=L] Fstoll chs 22 At & M7l ARZFS0] Ci=4 F3lSS Z0I6IX|2E Y= 015 S3fe| E¥st HS
227 At} 0| Feh= XIHLE E35k= ol =20| =k

19424 Fst t.é.HIJ(Bambi)E Ol2 S0 EXL B2 AIMS0| 0| I3t w0l &8 X=Xt ZRACL 0] F3h= M77| Ak ]
Olop|2, 7t "alz22 =0 A1 U o & QIZHS0| =23t soA= °._|.7_*ES F= MR 2id(o] ool UL HAXE=
FALIN? A2 OPE‘:*XI A HXME Y=rh=s Rolct, a2L 2= AHHS ES5H0k it

CI=L Hah= 5T ZAlSsiA 010152 7I2EICh £2 o7t "ZIt=EtA,(Pocahontas)Ch. Bt Otll2|7t &=al FF7+ &
20|A(John Smith)2h= 0152 F=QI MET ARZlofl #HEICE S3F= 207 Xt WetEA A= Ee 7I2ZICt Hi2tch o] F3tE
HiE ololS: a8 ot

i F

S84 A5 Bl XIHS E56l0f Sith= s 7I=2EIck 3ok

1. message HIAIX|, wZ(lesson)

2. 2 W AolM ™ MIA AEO0| Z0t6HE CI=L] Fotg Aoz O 2l Q17| Q= CI=L| Fstsoll Tt olof7 |7t URS
Zo|ct,

«

w

~olm UNAS uh ~5t Uo| UACH' = L0|7| W20 whenS MH FEut when EHO| 22 AKMIE OI2LY. is living= AT
AlMI2l was living22 1xof §ict.

_,_

But some people do not know a special thing about some of these movies. (~0il Chh)
40| Cah 2t uf HX|AF aboutS 2Lt (0f]: What don’t you like about your new teacher?)

A Native American princess falls in love with a British captain named John Smith. (~2t= 0I5 71%))
+ named= ¥z who/that was namedOiiA EACHEAIRL be SAIS A2¥5H Z40|Ct +S0[X|2H S| 30| o2& “~2h=
ol29"2t= olnjel HE™ HHOZ ofsHSICL

—o
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1. are sitting 2. was having 3. hates 4. I’m wanting — | want
5. wasn’t understanding — didn’t understand 6. are you doing — were you doing

1.recycle 2.princess 3.walrus 4.protect 5.227| 6.32X| e 7 Moz 8. =2
9. 10.® 11.@ 12.global 13.nature 14.temperature 15.peaceful 16.court 17.trap
18. Clean up 19. be friends with ~ 20. related to

A HE 28t (Young People’s Literature)

Black Beauty =2 =€

Vocabulary Quiz 1.a 2.c¢ 3.b
o8H A& gy @)

3= e

Reading Comprehension 1.3 2. were often injured by people  3.®@

OfiLt Al#(Anna Sewell)l 2 "S24 '2E|,(Black Beauty)= =XISE otoiZ MAS 2| =92 H7| Sict 0] M2 A0
O{EH S== CHR=X(oll theh Moot AlZ2 T St &F ol Aol MX| 4T, JL47t AT AltHoll= ARZIS0| 2oilA| 4=

YUSl= ER7F HO| UUCL 0[ZH0| FUZQ! S RE|2t= LS ARSO0| CIE YAOIUCE =2 REI= ARilel &S SXIofA
olop7Btct. = Aks St 2] 71| eE 0:131 RIS iUt FRUS T B2 AFRIS0| 20l 0FF FAH2 OkXIE E7| 3HC. 0|
w20l 12| T+ F Stht= F7I7EK| Sict,

=XIE S0l ol S4¥et &S0l thsh 0 FAAEA "”7*5f— ARZS0] Tt 0I5 2 2ol I71| Cf Z ChsloF ettty H2t5ict,
rs2 JEZEURI| Holls £ RF2| TS AZSH=E 7|4-S0| B0l UAACEL 0|2 1S SHHE 20| HEIE 22| M2 =Xzt
Zoil7Al= of DEAS2 LOIRACE SHAIZE Of R0| LW LM ARHE2 02 TS ArZst= Hs 2UFA| =

FEYH S 2xl =2 FE[7L AIRE ORI RCk= g2 eict
1. O] Moj| 7] mES Salf S20lIA & siFat=s LS stefs Aolct
2 7t | ZE0| o HRE ERI=X| MHSk= HE0| 2E 7| M|, 012 THOIEE =0t were injured by2te
SSE| EHS ASSIH |1, BIZEAR! often be SAF Foi| £+,
. (A)0ll= AlSAte] S0} TRFIEZ Y pullo] Rt (B)ol= feelel HEAL E0{7}t EIQFI22 bad7t &aict (o=
stopl E&0{7t HRsE2 using0| Mesich “~ste A2 JtHFCE B2 (stop + SBADO|L, {stop + to EHAh=
“~5}7| s HECH = LO|H, ol to E™AHE stopl| S&0{7t OtL|2t SHE LIEtl= SAI 2t Foil R2lsHoF Sict,

w

This is how the main character, Black Beauty, is treated. (F2130| 5 2 24l = ARRIS0| FO1ZS CHE BA)
* +SEHIE 2Nl |2ECt= SSEIR shiAsh= 20| AIAATICE
Some readers feel very bad about the poor horses. (~0il CHsll RZLAZIH| MZisiC))
+ feel bad abouti= LIBSCtT MZISHCH= 20| OfL|a} QIsiCtn AYZISICH= 2ho|ch badly= “AsHA|, ZFIsHA" 2h= o|ch.

These reins held their horses’ heads high. (0| 0122l XIMIE RXIsHA| JHCH
+ hold= keept ORRIVIX|Z HENE RX[SHCH= 0Tt =, 20| TIHE £0]X| Zat== Fich= 2jojo|ct,



The Diary of Anne Frank ¢t =&t=2] 27|

Vocabulary Quiz 1.camp 2.dangerous 3. strange
REd A5 22X @

Reading Comprehension 1.5 2.5 3.0

19423 HIEZE0IA 13M] ALETE UTIE M7] ARBICE 0] U7 |= ref| Z&=9] A7|y(The Dlaly of Anne Frank) 2 ZX|A|
TIICt YUIE MI| ARGHE A2 0T 20| OtL|Ch T MI7IQ] B2 AIRKS0| Y7IE 20k SHXIZE Q= of fIRish Aol 41
AL T 0jof7 |= &2 olof7[o]Ct,

Ot M2 MIAICHS AlcHoll RElofl AE [CHQ! AERACE O et 9| 7HEEE 0 Al LIRIZEEH &o{ofgh 3ot
(@ Lixl= ol50] Rrielolat= 0IR2 0152 Z0|1xt Rt 3) Y7I0M 2= RHhle] s|ynt Fa42, &0 XlLhs Uat Aol sy
Aok @ 7152 29 oldE &0 ARACE B lls 8400 UK 42| 22 T149] RETH 7| £of Aot ot k. @5

O 22 MIAIOIM 71 2171 L= MTH 00k IS 724l sh-folch,

FEYH AS 24 Qhle LIXIZEH &0 AT ARC| XHle] 4ol thall 27|E H71 =Uct

1. &0 UCPH UZz|o] A= HIRE RS0l oM AIURES 0|22 Aldstr| 217 £20] MAIZ0] S0{7(0F St
2. fear 8%, £33, Zd™(worries)

3. Y= AR SHERT S 0[0f7[0]Ct Biofl =X =2

r>"

=0| €1 AU=KX= & == Qlot

rr

It became known as The Diary of Anne Frank. (-2 2{%))
* become2 E0{7} ZQotH FZH0{9| SHElli= 01 CI30ll beE =/ M = 2
became CH301l £ = QUL
Anne was a Jewish girl living in Europe, during the Second World War. (211 k=)
o ZACHHEARRS] =2k who/that lived &2 who/that was livingS &¢I Z0|ct (FZ HAHHEAL + SADE -ing2 £
QIOM, (=74 ZLHHEAL + be SAL )= Af2FsH 4 QICt

og

EfH =t = it is known as7t ¥o™

The Incredible Journey 4 zi7e mipz 2

VocabularyQuiz 1.b 2.a 3.c
SEd A5 28 O

Reading Comprehension 1.@ 2.&® 3.3 for—to

Aot oiE *?.f 70| 0[oF7|QIX|l A2t HEE=(Sheila Burnford) 2| "Ml ZIte| HLIH Zy(The Incredible Journey)diAl= =
Otz(e| 7Het mto| S Of2|, 0| A Ml 0f2|e| OfASES0| TSE 7t= 22 &l Flotof St

NIs27 % f TA0|E ARHSITE SHX|ZH 01S0| CHE D22 OAE & M OfASESS SokX| 82| FRISat WolX([A| =t O
SE=2 FUSE 27| 2ol SLshA He|7HX| OFF /&St of3lS Sict SEXIZH 22 /S FoHAE IASEES2 M20H E55t

|
7|2 2FE 2HECL
OIS 29, Ali7| S0| 71 ¢ of2|ofiA| ZXE &
ZOMHZICE 0|52 A Y2 ZHE HalX| ¢ 2= Felo| Fof =2kt 0| SE52 =22 o
HojEC

YBICh M| S2 2F0iA SRS SLUF o] MIXIZH D02t CHE JH7t M7l E2
HS X
=

sten Zist 230l Big

T U5 2H = S0l XS ATt JCE

1. FZol= M=ol thsh HX| ghi= TS ARt S=52] olopr[o|ct,

2. oA g2 7Hel Fitet LIMX| 7 3t of2|et 1efo|E Fetr.

3. Q0lIM SAt show Foil “~ofi7"2k= 2In|E LIER moll= to7t RIHARICE
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What a story of friendship!

* ZERR: (what + 22 + (FBAD + BADRIH| FBAIS M2 MX| 952 2O |t’s a great story of friendship2l 2|ojo|ct.
The pets accidentally get separated from their owners. (H0{X|7| I

* SEO| 3 (get + WHEAD= “~3HA| =L = 2lojo]ct.

But the cat and the other dog chase it away. (1% ZOHHLC})
o SATRE SH0IQ| {IX|: (SAt+ FADZ O|F 0T SALOIM ZX0{7} CHEALO|H HIEA| Afo[of 'E0{0F BICt

The Island of Blue Dolphins #= ==z 4

Vocabulary Quiz 1. make friends with 2. take care of 3. make a good life
REd A5 28 O

Reading Comprehension 1.@ 2.@ 3.0

CHRfoll A= adofl Al EXF AL CHE AlfSat Hal Hojy Actn difsl Hah G2 ofE slil=7t? AT E @(Scott
O’Dell)| =& =12l Hu(lsland of the Blue Dolphins)OiM= 2F0| &2 EHUHA 02! AT A ECh = S Ak Bt
AARE EHE HE Hi2Ch

49| 2ailM= AP =75 AEShE 20| S-OICE SHX|2E &0t H7| fI6HM A= =75 AREsHolzt it A4= Arz
T2 2 AZE 7| 2ol AMdE 5l RE TEC A= it T7t =l=d, 0102 =2k2 2OICt s HiZ 1 717t A9
EHXIEME =7| 20|t Oldi= ot Xl 23t S49| ==7iet Et7} Eok

U= tHRES| ARZIE EXt BUX|ZE O Al4= ANz AAz0| sloz EFCH &S FaiZict S0|E7x 0| olopl= AEUH
A4S HIEC= Bt Z0[Ch OUE= oA 22 18HS HUCH

[Ed AL 28| tribe %, 2= (people)
1. A= Q20| EXt18ES ARUCtD ooz 1 18AZHO| 48 A4t H|wsH 0[oF7 [ Zdo|ct,
2. Aol W 2 U =7 ARSRICID JCh 20| AHE HE 0|f= LRX| §USH, A7 MS ML HX| §2

HO N >
10
o
I
o

oA T
2l
i
).
e
Q'I_l
rr
g
g
N
e
0]
e
jin
Ao
12
0z
=
HU
Ho
0
H
T
B>
)
Q'I_I
El
20

®

o0& interestingly(S0IEAI=)7+ Mot

She is forced to learn how to live alone and take care of herself. (Xt7| XtAl)
+ XHHCHEAL: sheZt M2 EEE2 AARO| o2 MORZICH= S20|C,

However, she has to use tools in order to survive. (AkZ3H0f SiCt)
o AMOILE Fate| EH2IE 0lok7[& M= $XH AIMIZ A7] 201 had to use(AR23HOEZH L) CHAIO| has to use(Ak&aHoF2t
stchzt El Aolct,

The girl actually makes a good life for herself. (AAZ2| §lo=)
« for oneself: “g°| == ¢l0| 2A 29| FloZ"2k= o|n|e| £Z0{o|Ct.

The Little Prince oi2! xt

VocabularyQuiz 1.a 2.b 3.c

R o5 Ed @

Reading Comprehension 1.3 2.®@ 3. You always take care of the rose.

QoM LTt A2 FAWI? U2 7tST ol ULk THA Z7H AERE = MEIFHE|(Antoine de Saint-Exupéry)= 19
ittle Prince)0llA O] Z201| CHEH S XMIARAC

N
nx
=
rm
0
Pl
S
D

>



:|:

OlEl AXh= CHE Aol A A=, 0| doll= Z0o|7t sitgtoll QiCk J= 0] HOIE O ARSI 2Lt Ao, HEl &7(7
Lt7| mi20lCt 29| SHtoj| 7tH AXk= K72 lES 7h=0l XIF0lA = oC|ofALE 7“DI% = = U1 Ek o[l = KRS
Z0|71 O oA EYSHK| QUCtD MZESIC} = MZISHT} ‘22X 42 70| O EYE 471 QA Zo{?”

__,_

o [E=ym— == T
Taixt ieiet 0197} ofe! XA SR WES Jl2x FCh 0Pt Of YXiol Fols OfHs| SWsiCkn Yt ofes
2SIT), " i 3 oIS 2ot A e HoIE S2/oL T2 I Fol= S2¢t 20[X|” 0] A2 ZXIS0A At Aol thstod

=
S8t nEE JIEN EC

SEYH AL 2d C2 A2 Y 4 QXIS E0|7t 5ol gick=s 2 LT

1 £ Z0f8iCt X|F19| HO|E SE}=Al= & 4 ¢l AP |E E-6ICID MZi=X= & 4= giCt
2. smell2 0|2 HAIL} HEALE MO 2 great7t YU

3. take care of= “~& SEO"= Q|0|Q| =0{0|Ct,

On that planet, there is only one rose. (tt 5t £0[2| Zin|)
+ only2| 2IX|: one rose ol gt = Ho|= Sttgtol gick= Zolct M Fofl RotH siMof Ho| it 2loll= glcks 2ol =ict

You see the rose every day. (0HY)
+ every day= “HY OHL"0l2H= 2A10|1 everyday= “YaEQl, & E="0[2k= &8Ato|ct

1. greatly — great 2. Jen will send to her parents a postcard. — Jen will send a postcard to her parents.
3.crying—cry 4.gave a presentto me 5. teaches children an important lesson 6. made the
woman leave

1.planet 2.rare 3.everywhere 4.diary 5.0t 6.&7Ict 7.87] 8.B&ds el 9.@ 10.@
11.@ 12.separate 13.island 14.incredible 15.wise 16.tool 17.enemy 18.chase away
19. based on  20. set off

b

St 42| {2l (Origins of Sayings and Proverbs)

If You Can't Stand the Heat 2715 &= = gici=

Vocabulary Quiz 1. known for 2. handle 3. trouble
REH A5 22X @

Reading Comprehension 1. tell others to stop complaining 2.@ 3.@

BR7IS0| S HNB XS oLk SHXI 0 S s42) ESB(Hany S. Truman)2 SAXe! SOz 2zl HojA
SIRITH Ol MRS 7t Ik AZI5HR| QUURIBH 1= B4 O RIS
BH2 E2010] Of TRMES 0§2 TAI5| J21T WA 511 URCEL 7t LT et T2 ARISS 18 k| SIS,
ARISO| 2T "HAIS ot o] U= T2 SRR MY £22 SR
Oloil ChEt 19f tHES SROIAST? 7t LR “2WIS S 4 BUTIT HAON L7, ChA| 2ai2 of U s +
B MRS CIZ AR 12 B 4 Q=2 Lo} SITH= 2oICt,
10152 0] U2 OFF AL ARISS CIE ARIS0| 0| LS BISTHn SBS 5121 0] LS Sirt, E2MS ISYOIAS
0t ofL|2} M2 HeWIX| BHSofsCH

U]
m
=S
ol
St
%
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FHE A5 2 “ES T2 &+ UCE FHolM L7l aks 10| Bl IFYE AJNSI ULk
1. S%oh= AIZS0IA Rele™ a8ty 5 2O|ACE SAt tell Foil (FX0] + to SEADE ARSEICL
2. (A= HE=U fast2l= FAIE ZZSI2E how?t LRCE (B) 301 answer2| 207t & & A= A2 whatOIch (O=

S2I= CIE HEBES2 EFTZ0| YABIKIE 2LUS XOICL

w
|
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e
ro
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rn
04
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02
i
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]
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]
0
0
o
il
[~

Politicians are not always honest. (&4} ~&t 242 OHLIC})
+ not always= £&2 282 LE= B30|ch FZIoHK| 942 tix UCh= Zolch

How fast you work!
o ZIEHR: ZERGH= 250| HAH (what + (EEZAD + (S2AD) + HADC| TEHE MM ZESH= 2E20| SRALE HAIH (How +
YEA/RAL + 0] + SAH) FENZ 220

If you can’t stand the heat, get out of the kitchen.
* ZUR0| HYES =CL “~olCtH ~5l2t = Lolch HHE0|22 FHol= 047} gict

Spilling the Beans == ciL!

VocabularyQuiz 1.a 2.c 3.b

R o5 2d @

Reading Comprehension 1. (A) secret; (B) accident 2. @ 3.

HIZS =467 2 =0] QUsTt? 2 Ho| ACED SH= KX FSIX|= AUS ZAo|Tt. iAol oot =227 HE 3Lt S Zo|ct,
22 J2|A0M = olck a2|A QlS2 XIEI}— MAHZ EHUACL SHX|Z 0|S2 ARIS2| HE HIEZ FXl6i
. EECE @ 2t Yol 22 Ut @ & 22 o7 RS EHE A0ICE B HE F2 piirs wX
Z0IAC @ &l 22 22 SECH o ol T 11 ARE2 M74oflAf 0]Z! ZIoIRict,
oluts 4= BE M2 30| HiHo| Z0MK|= Z7t UACEL JH ZFS & Iut Y
FHE O 0l HIZO| OfA| =IACt =717t "SS £UACHE A2 27t 2 H|ZE T3Ch=
SLloi v|2S eiCiH O H|ZS +H6IK| 2IIE]

S| Ao Q=R 2 4 AU

0| A}, 2L E}— Hol| =717t

|o FIO

Y A5 24 MAIES one man0| HX Sg=|w 00 27+ #E TAIE Zo|Ct
. B2 HXIEL= 22 sl ol H|UES Hols=Cl= 0|22 A0ll= secretO| Foll= accident?t S0{7tof
accidentally = by accident

0|8t FHOIM £ AUyt E2{LIHA M7 #30|C

. elect ME3ICt ECHchoose)

|_\
o

E
o

WoN

If you have, you didn’t make a mess. (72 ={0| QUct sH=)
+ if you have ever spilled beansOilA B E 225 &2 A0|C},

However, they wanted their votes to be kept secret. (HIZZ {X|=|C})
* to B™ALO| o|o|Ako| F0o{= 1 22| votesO|Ct. AlZH0| keep votes secretSt22 votesZt 07t £IH be kept secreto| EICt,

Sometimes the jar was accidentally knocked over. (&2 20X
* 5522 5tH Somebody accidentally knocked the jar over0|H O|Z the jarE FOZ st= St} 222 HREE Z{0|Ct

Sometimes the jar was accidentally knocked over, causing the beans to spill onto the floor. (0| £0X|7| siCh)
+ cause + 280 + to EHAL [SHOt ~SI=E SlotE S22, SX0171 11 Fofl 0|0{Xl= to £-Ate] 2jnjAe| o Hats
sict.



Trojan Horse ==ol°| sot

Vocabulary Quiz 1.beat 2.trick 3.take over
R4 g5 26 G

Reading Comprehension 1.0 2.@ 3.®@

“BUI” E20| HAIS0| A2IFCE OS2 0S0| WF 2 MS0IA T2 ALIS0|A| S2I37| GR0f 7ICt 12|AISS S Efn
Sopin MBS LT 2 ZUCH 0FF 2 20jeiCt “HY 0fSCHR M0l E20| QIS0| Lk

E20| IS2 2012 ZA FHOR U 2tk 1 ¥ £20| 2SS I59| S22 S3f5Hs TEIS BT 1SS S0t 20
2|4 BAISO| 0] UCHs XS BT E20| 2IS0| Fofl SAt I2lA 2QIS0| S0jA LIIC 20K 20| OHIIX| 227k
2O 20K A S2USHCH T8IA BAIS0| SAIS MYHCL 2t E20| Q52 HMS Cha MRIXISH 12|14 BAISO| 24
L4 BIQITH 21 QIS MSUIM S2I510] E20[0] A0l T2IA LS ATt

Ol AfZI0| 42 §| E20| QIS ZT M2 K| UUCH IS0 BO{ ISt IS2 M2 BIX| Lakn U Aol “NES F=
02|AQISS FABIRHE KB 221 0] KB AR ARIOIA ARIEIC

o
nE
rf
i
H__g
5N
ro
uin

7 0| =0t Ligtes 2 jt2 Zoto|ct,

1. J2|A QIS U0 "MES = O2|AQISS 246N = 20| Mt

2 2l af 2toi] S0 AAUCK.

3. (A= LER0IM (FFEAL + FEAL + BADY M= Aol whatS 20t (B)= R7IRIZ2E2 FE0| SToIH FIE 273, F20|
=

BEH0|H FE S™o=2 "2 2 was7t LAt (O= don’t CH20le IS Mok SI22 trustolCt,

They were happy because they had just beaten the Greeks in a big battle. (~0il S2I34CH
o S0l S2IEICT &t beatlt defeats MM win2 SEOIZ AIROILE &5 2C (0l: AI—0IM2| 2= win the race,
AlollA 017 SHIES th= 22 win the gold medal).

It looked like the Greeks sailed home.
+ it Ck201l (look/seem + like/as if + 2)0| 2™ “~&t Zd ZT}"= 2|0|7} EIct,

That night, they had a party. (2 &)
+ “diof"2t= 2I0IE BSIE olli= night ol TIXIAF atS MA] AX|ZE night 40l thatOILt this S0 2 = TXIAIS M2kt

Beware of Greeks with gifts! M= 7ix|1 Q= T2|A 215)
¢ 20 QUCHE 2n|9| haveE SAIR o= HAILIBAER withE MA £ 4 Uct 20 4™ Greeks who have gifts for
youO|ct,

On the Blacklist mziiszo) s2iz|AE

VocabularyQuiz 1.b 2.c¢ 3.a
REH d5 =M @

Reading Comprehension 1.@ 2.®@ 3. colleges

spyse AP| st mI0| KAIQ| 0|52 o BIRITE BE 0|% 0IS0| 243 SHA0IaH= 242 olofBitt BHRIZt SHAo)
0I20| M0l SHB|AEC| SRUCIH OIS A2t6t Tl HZ] ZHo|c

Sefa|AEL QZHso| SO AIIEIIC SHY0| HES TR WAL 0159 0ISS Mo XU=H|, 0] Li shsol
OIS XS M2 A ZWMOIRICE. 0] &o| BAR|AE =R UK SICE J2|D 0] Th20f SHESO| H2A0| TS BA| EIRCE

0l SHUS 5 CH7} CHSIO FISIBEn MO SAISH HEISS SIS USHAIZ17| Ziol By mAOA| SUCH Thete S2talasof
QE SIS WOIS0[X| 40T Lt OlNIS S2Hal AT} SHOIAE AIBEIS 242 OhICH SalAELE 7IH0IME ARSSITH ofn
7Ie T2 RErt 2E|AE T} o LRSI,
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e o1 2Rl O] Chatol XIRigt 1f E2lsickn st Uk

B
0
Q'E
N
e
ﬂllo

2 S0{ 7|0l S| AE LR

of
. P2 HI0IS0/= 22 THI0|92 they's thato|ct,

roh

FE=7t 2= ®e 29E Aol

The colleges always spoke to principals before accepting the students into their school. (B4 i&tA|7|7| Foi))
* 2ATE: £0{ AH before they accept the students into their schoolZ, FHAIS 21 ZH FO1E M2 SAE
TIstigio2 Hro] At

Now, blacklists aren’t just used in schools. (~2t0] otL|ch
* just= only2l 2|0j0|=& not only2t ZC Folli= but alsoLt as well, 22 22X too”t 2Lt

Jumping the Gun s2z2|=ct %z

Vocabulary Quiz 1.nervous 2.situation 3. phrase
REH A5 22X @

Reading Comprehension 1.@ 2.@ 3.@

ne
mjo
ini

= B2 FOEUNR.” Lot 0|45t LRI71? =71 B2 FHo{d2e slRle7t? 1 712 OlsholH, 0] OjAksH &
2= QUCE “Jump the gun™ol2t= L2 AMY AZX 20{0|H =& ZAF0f|A LE2 Z0|Ct,

TH FF0M FXE2 UMl £2 MM 42|12 7ICl2|ct, O oSl E217] ARISicE J2iu g2|7| ™ B FRHE0|
ISt o™ ARME2 S42(7t LIY| ’SOH =2[7| AIRFSICE 0] A0 2= 050 ‘S22t HA LCH D Wit J2|m
25| 0|2 FXk= ZF0lA ZICt,

t

ol
ok

=20

Olx| O] EH2 A= OfL2t CHE B2 FR0= ARZELt =717t o 25 UF L& AIRGHE 22l= "7t S42(=0t
A LIZICH 1 28 4~ QUCE 0|2 27} HR U ARIZoH o] mhzoll 2XI17F 4Zick=s 22 2lnfstch.
T U5 2 BA2E0 HA Wi A2 F7I0IM X, oAl Zall EalE B, EX| 42 LS 7I2IZI0h oM AR E Rt

OH-IEP CHE 20M= AKSEICHDT 3HCt,
1. jump the gun2| et € dHst 20ICt.
2. LR 2SN SA2|7t L7 |= Fofl E25ks M4-S0| QCta FiCt

3. ZER20IA (BHEAL + FEAL+ AR A0ll= how?t OL|2t what& 2Lt
How a strange thing to say! (25}7 [0l 2Ot} 0| 45HX])

» Z|5IH U517 |off HotLt oldet A7 &, OFF oldet 2ol2k= Kolck

i)

If someone starts something too soon, we can say, “He jumped the gun!” (45 #2))
* too= FEXQ! HE0l| L0t LR AEfSHM E2 20[2HH tooE M X| 242 Zo|Ct

1.What 2.How 3.How 4.Where 5.Why 6.How

1.direct 2.president 3.sail 4.trick 5.2Q6H5k= 6. M&slct 7.80lE0It 8. M2 9.(D
10.@ 11.@ 12.beat 13.silently 14.admit 15.project 16. principal 17.make a mess
18.jumpover 19.lineup 20.slow down



Workbook

S=2| 4ld| (Amazing Animals)

SupplementalReading 1.0 2.3 3.0 4.0

Dictation Exercises 1. (1) kill them to protect (2) that can help both  (3) have other great new ideas
2. (1) are usually cruel killers  (2) die in fishermen’s nets  (3) reason to be afraid of

Vocabulary Check 1.planning 2. carefully 3.popular 4.laws 5.shotoff 6. breathing
7.talkback 8.share 9.feed 10.observe 11.cruel 12.protect 13.afraid 14.book
15. Caring for 16.grow 17.repeats after 18.quit 19.visitors 20. active

as2 S50l Ak 22 74 27100, Xiset @Al L 2 ARl XIEC S2s51E 7 Ag H2 Mo ok 352 F7eN
OS2 E=0§L|0F FHLIFOICH SHX|2H RYAEAIE 0S0] ARZEX|LT QACE. 2ff 021 2ol LojLtz M' 2 sEAE OIS2 M2E
=0|31 ACE

M2 S01ECH 252 MZ0|7| oFF Eolgt SR/ s AU7EC S01E7|H L2} =0l SY0| 7Tt 0] SY2 oFF
7Tict, 2 OS2 AL DMIXIE ZEICt E’JS FHUSS0| HE 4 8lth= olREIeZ =7 =t

A= 1990 Sthofl AR=IICt SAloll= 152t Of2[2] ER=0iL|0oF =HLIS0| A=, LEE=2 28 Of2|80l FX| LU

O|S0| TIE SE52 A7 W20 SF0IM= 0150| EL5IC) ER=0HL|0F FHUS0| g™ KRLE Opd 1fo|7H 4T ROKX|A E
0|t 2 ISIXER SEH0IM 0| FHUSE A2E 4= VIS HIZIT THE nSiXE2 2ol tiet xIzEs Fesin sttt 287

oz FHLIES0| M HRIX| Q=2

Alstol HAtoll LI2= ¥ 0[0k7| (Stars in Mythology and History)

Supplemental Reading 1.@ 2.0 3.@ 4.®

Dictation Exercises 1. (1) good to live forever (2) Sons of gods were immortal (3) he had brought fire
2. (1) allowed by law  (2) ran away to the North  (3) looked to the stars

Vocabulary Check 1.chained 2.mad 3.shook 4.named 5.bright 6.ancient 7.grabbed
8.formed 9. pointed 10.honored 11.punished 12.tossed 13.carrying 14.ranaway
15. locked; up  16.received 17.process 18.common 19. half; half 20. excellent

Eole] & 2HH0| A= AFRFSO0| O #sks0ilM & IZFE 2T S0|§7IE 0IF 23k= MZ i ZRICh J2|A ISt
EHi2t(Tewa) QIS2 MZ 0FF Ha| HoiA A1 QUAKX|T 0|52 2= Sks0iM HZ2 HEHE 2UCL

J2lA QISR 0|5 EE0| AH| Yek2 st Uriar UCE 19| 0152 2212(0rion)0IAUCt = 0FF EFSH AKFEH0|0IM
Chx|2l of4l(Mother Earth)2 IS s =IRACE CHXIQ] Hil2 22|20 SES2 TR FY 7{2tn 4ZRUCE J2iM TUS 2
22|22 =O0|A| Yot 27k =1 LIAL Bt 0Llo] 35 EEZ =8 BRI

X|7t HithEe| ofHlz|7t Mol Ah= HIgE 215 Al 0] EE Z0iM HAE EUCE 052 27t 2thet & 2! 5i2ltl(Long
Sash)at ZRACE EH|2t 2152 Ofol| Chet MSHE 2in Urh 2af X E|et QIS2 Ha| HoiZl HollM 3xi Ak= 082 0|F3UC. 71
5l2|ti= 0|52 OAZL=RE] HOLIES Q=JUCt Hiet 2152 0| E50| 71 si2|u2t B=rt SZtol= Eol Ml 71 Ack Eiet
QIS2 0| & M 77 EE, & 5i2|u| 2ot HZIRCt 119| 0IF2 O siM 42! Zdoict,

ﬂJIﬂ

£2|8t (Physics)

SupplementalReading 1.@ 2.@® 3.3 4.

Dictation Exercises 1. (1) Have you ever recorded (2) the airand our skulls  (3) two completely
separate versions 2. (1) started up the grill  (2) act like a blanket  (3) at the same rate

Vocabulary Check 1.invented 2.genuine 3.reaching 4.caused 5.weapons 6. exist
7.wondered 8.rate 9.recorded 10.felt 11.well 12.made funof 13.skulls 14.Traveling
15.Fold 16.became interestedin 17. machine 18.were unableto 19.medium 20. are made of
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2X| 238} (Remote Cultures)

Supplemental Reading 1.6 2.@ 3.@0 4.@

Dictation Exercises 1. (1) not so strange atall (2) their whole face (3) get used to the feeling
2. (1) hold a beauty contest  (2) put on colorful makeup (3) get the most attention

Vocabulary Check 1.regular 2.color 3.tribe 4.puton 5.makeup 6.ability 7.images
8. horrible 9.tough 10.shapes 11.well-known 12.rare 13.show off 14. painful
15. plates 16.rescue 17.provides 18.tongues 19.getusedto 20.Besides
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S7|M (Curiosity)

SupplementalReading 1.@ 2.6 3.0 4.®

Dictation Exercises 1. (1) people noticed something strange (2) something even stranger about
(3) can be full of 2. (1) have an amazing dream  (2) after you wake up  (3) their dreams came true

Vocabulary Check 1. psychic 2.sense 3.over 4.normal 5. ceiling 6.probably 7.matched
8.shocked 9. attacking 10.stuck 11.noticed 12.survive 13.Scientists 14.amazing
15.reports 16.returned 17.alive 18.begged for 19. discovered 20. wrote down
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21Z (Health)

SupplementalReading 1. 2.@ 3.0 4.

Dictation Exercises 1. (1) the way you breathe (2) feel more stressed  (3) person’s general well-being
2. (1) does have some benefits (2) let them reach goals (3) who are addicted

Vocabulary Check 1.humorous 2.abdomen 3.Single 4.support 5.mock 6. placed
7.stressed 8. benefits 9.illness 10.kind 11.trend 12.improve 13. possibility
14. achievement 15.goals 16.grades 17.breaths 18. especially 19.emotional 20. behavioral
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XIH (Nature)

Supplemental Reading 1.@ 2.@ 3.3 4.@

Dictation Exercises 1. (1) came into the camp (2) usually free each other (3) live in the wild
2. (1) by some bacteria inside  (2) single cow gives off (3) used to think that

Vocabulary Check 1.goingdown 2.reason 3.species 4.types 5.plant 6.free 7.escaped
8. stood back 9. give birth  10. produce 11.give off 12.comesoutof 13. surprisingly
14.addupto 15.getworse 16.disappear 17.areas 18.tourists 19.journeys 20.invasive
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st4d 2H| (Environmental Issues)

SupplementalReading 1.6 2.@ 3.3 4.

Dictation Exercises 1. (1) changes the weather patterns  (2) could this really happen  (3) happening as
fastas 2. (1) wasrelated to (2) natural gas through pipes (3) took the reponsibility

Vocabulary Check 1.fallsinlove 2.Global 3. polluting 4. destroyed 5. Therefore 6. protect
7.climate 8.spaceships 9.not; anymore 10.trapped 11.relatedto 12.freezing 13. arrived
14. favorite 15.recycle 16. floods 17.Sometimes 18.Otherwise 19. patterns 20. trash
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HA 28t (Young People’s Literature)

Supplemental Reading 1.@ 2.3 3.3 4.

Dictation Exercises 1. (1) through a horse’s eyes (2) One of his friends  (3) should be treated better
2. (1) take care of herself  (2) makes friends with someone  (3) makes a good life

Vocabulary Check 1.strange 2.courage 3.rare 4.fears 5.lesson 6.throughout 7. treat
8.wagons 9. makes a good life 10.setoff 11.chase;away 12.planet 13.special 14.take care
of 15. makes friends with  16. leave; behind 17.)ewish 18. dangerous 19.camp 20. painful
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£etn Z49| [l (Origins of Sayings and Proverbs)

Supplemental Reading 1.3 2.6 3.® 4.@

Dictation Exercises 1. (1) celebrate theirvictory (2) raised the Greek flag (3) raised the Greek flag
2. (1) on a principal’s blacklist  (2) known as the blacklist  (3) more than any other

Vocabulary Check 1.known for 2.trick 3.handle 4. situations 5.keepingup 6. beaten
7. make amess 8. Inotherwords 9. accidentally 10.trouble 11.knocked over 12.behaved
13.accept 14.nervous 15.phrase 16.elected 17.tookover 18.origin 19.careers 20. stand
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